1. The cross elasticity of demand is applicable to :

(1) substitute goods (2) inferior goods
(3) superior goods (4) None of these
AT B YR A/ W) AN BT §
(1) fved Ry 2) =1 #ife & @/
(3) IER A (4) ¥ R B 78
2. The law of demand is applicable to :
(1) Normal goods (2) inferior goods
(3) prestige goods (4) all of these
(1) ARIROT ATHH (2) = dife & gmE
(3) wfT axqy : (4) ¥ ¥f
3. Indirect demand is also known as :
(1) derived demand (2) composite demand
(3) joint demand (4) all of these
3reyer | BT ) AHT e @
(1) gea= #fT (2) g
(3) ¥gaw i (4) T wh
4. Market demand is an aggregate of purchasing by :
(1) two buyers "~ (2) onebuyer
(3) all buyers (4) None of these
ISR AT @RI BT T gt @
(1) 31 EEER (2) TP @WeeR
(3) ¥ WieeR (4) T A PIE T
5. Ina market economy, the basic economic decision are driven by :
(1) Governments (2) Business owners
(3) Individuals (4) All of these
U IR Sefegaren ¥ 4o enfdfe oo frg o &
(1) PR gRI (2) Fad™ & AfTH gRI
(3) =faaal gRy 4) I
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6. The difference between the gross value added and net value added is :

(1) investment (2) depreciation
(3) value added (4) production flow
AHe o SIS 9 Y& o SIS B AR BT Bed o
(1) freer (2) emerd
(3) & WIS (4) IR YdTE

7. Benefits or harm caused by a firm without payment/penality is called :
(1) Externality (2) Loss
(3) Investment (4) None of these
TH BH gRT YA /AT Ry @Rk @ a1 g1 &1 8191 dean ©
(1) dreran 2) =
(3) fraw (4) T Q BIE 7

8. When incomes increases, consumption :
(1) Remains constant (2) Decreases
(3) Both (1) & (2) (4) Increases
oig AT E@‘r‘ﬁ ERSIRSCGIRIEE
(1) & Y& § () = ®
(3) (1) vd (2) ari (4) sec 8

9. At the equilibrium level of income :
(1) S=1 (2) S>1
(3) S<1 (4) None of these
AT S ATITRAT WR ‘
(1) 5=1 (2) S>1
(3) S<1 : (4) 9H | PIE &I

10. At the break even level of income : '

(1) Income = Consumption (2) Income < Consumption
(3) Income > Consumption (4) None of these
AT & AT "R IR
(1) 3ma = SUHNT (2) 3T < SYHIT
(3) MG > IYHNT 4) T QA B TE
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11.

12.

13.

14.

185.

3

When receipts of foreign exchange are more than payments of foreign exchange, BOP

15

(1) Balanced (2) Surplus

(3) Deficit (4) Autonomous
mﬁéﬁﬁﬁﬁwﬁuﬁﬁéﬁﬁﬁﬁwzﬁwﬁmﬁaﬂml’%:
(1) wgfora (2) snforem

(3) =mer (4) @

APC can never be : |

(1) positive (2) zero

(3) more than one (4) none of these

APC &1 81 &1 wardl 2

(1) IPRIHS () I

(3) v® & ST 4) T | B 78

The slope of autonomous investment line ?

(1) slope =0 (2) slope >0

(3) slope <0 (4) none of these

I e ar @ ger ®

(1) g =0 (2) @9 >0

(3) s <0 (4) 379 9§ B 7E

Philip curve setsup a relation between :

(1) Taxes and inflation (2) Inflation and unemployment
(3) Price and cost of production (4) None of these

(1) X 9 gErRaify (2) JeaRHIT g RIoFmd

(3) ®Md T SR WY AT (4) 379 A B 98

Which of the following is not related to empowerment of women ?

(1) Gender Budgeting (2) Gender Development Index
(3) Gender discrimination (4) All of these

Fr=fefa & sl afen wefaswr & Gda TE E ?

(1) foir gore (2) forr fawry e

3) fei fae 4) ¥ oh

M.Phil./Ph.D./URS-EE-N ov.-2018/(Economics)(SET-Y)/(A)
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16.

1i:

18.

19.

20.

Giffen paradox occurs when income effect is :

(1) Equal to substitution effect (2) Less than substitution effect
(3) Greater than substitution effect (4) None of these

(1) vfoReu= g¥g & aRIeR (2) wfwemas wa & &1

(3) UfReIU= UHE | SII&l (4) 3H & P18 LI

FRBM Act 2012 put a ceilings to fiscal deficit :

(1) 6 percent (2) 5 percent

(3) 4 percent (4) None of these

FRBM Tee 2012 fact &1 &Y a1 <l @

(1) 6 wfeerd (2) 5 ufrerd

(3) 4 wfcrerd (4) 3T | B e

How many countries are the members of Europeon Union ?

(1) 28 (2) 25 (3) 26 (4) None of these
R wg & AT <w Aew g ? _

(1) 28 (2) 25 (3) 26 (4) sTH | D3 TE
According to Keynes, the aggregate supply curve during depression : |
(1) horizontal (2) vertical

(3) tilts upward to right _ (4) None of these

Bt B AR HE & TR fot YR I

(1) & (2) @

(3) MY H WS TSA & @) T e

If a linear consumption function passes through the origin, it means ?

(1) APC>MPC (2) APC <MPC

(3) APC = MPC (4) None of these

Ife g g I B TG IART S ARFH A Yoral &, T

(1) APC>MPC (2) APC < MPC

(3) APC =MPC (4) T A DS 7L

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)



21.

22,

23.

24,

25,

5
Shadow prices can be called :
(1) Imputed cost (2) Opportunity cost
(3) Both (1) & (2) (4) All of these
WYTS DHIAT DI deEd &
(1) FaRIftT rm (2) TR AFTT
@) 1) 7 (2) < (@) A
The GST will subsume :
(1) Entertainment tax (2) Value added tax
(3) Union excise duty (4) All of these
Sieael # afRafdfa / snfier g :
(1) "R o (2) 7o aftha a
(3) g swre ywn @) 2w
Which tax is imposed solely by the government ?
(1) Sales tax (2) Excise tax
(3) Custom duty (4) None of these
P PR DI TRBR GIRT a7 77 ?
(1) fa@Y ox (2) S 3B
(3) T Yo 4) =79 @ B T8
Which country introduced paper currency system first in the world ?
(1) England (2) UsSA
(3) India (4) Sweden
VR ¥ Ta TR BIA T @1 T 29 A g Roar ?
(1) gweivs (2) g g
(3) ¥R« (4) s

In a multiple regression the regression coefficient are to be used. Which test would be
used ?

(1) d-test (2) t-test
(3) F-test (4) None of these

Wmﬁﬁmaw@mqﬁmﬁmw%wﬂﬁaﬁ?—ﬁwmmmﬁm
SHIQAT ?

(1) d-weror (2) t-oiefor
(3) F-ureor (4) 379 § BIg T

M.Phil./Ph.DJURS-EE-Nov.-2018:‘(Economics)(SET-Y)/(A) P.T.O.



26.

27.

28.

29.

30.

Simplex method is used for solving the problem of :

(1) Input-output model (2) Regression

(3) Linear programming (4) None of these

et fafy wrmell @ gerems @ forg wanT @ Wil € ¢

(1) ImTa-—fara dreet (2) wfse

(3) g wrfiaT (4) 39 9§ P T

The analysis of variance is carried out by using :

(1) t-test (2) z-test (3) F-test (4) Noné of these
farerest SUANT B fAw=rar @1 faveryor Aeren Sier € ?

(1) t-g<eor (2) z-ue (3) F-uxi&tor (4) 37 | I3 T8I
Which is a non-probability based sampling method ?

(1) quota sampling (2) simple random sampling

(3) systematic sampling (4) None of these

R—wrae R AT Iy P10 8 ?

(1) IST AHATHROT (2) |ATART ATgd T

(3) AR TR (4) 39H ¥ BIg T

Given production function Q = AL KB, a, B > 0, increasing returns to scale requires
that : '

(1) a+p=1 @) a+p>0

3) a+p>1 (4) None of these

faw v Seares Berd Q = ALK, o, B> 0 ged wiamer & YA @ ffg amawa €
1) a+p=1 2) a+p>0

(3) a+p>1 (4) 379 | PIg TRl

Embodied technical change model is based on which production function ?
(1) CES (2) Cobb-Douglas

(3) VES (4) None of these

FepTes gRad= araenfia diee fhe Sree word R iR & 7

(1Y 'CES (2) Sig—sTad

(3) VES (4) 3H & By AR
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31.

32.

33.

34.

35.

M.Phil.fPh.D./URS-EE-Nov.-2018!(EconomiCS)(SET-Y):"(A)

Let the two regression lines be given as :

3x =10 + 5y and 4y = 5 + 15x. Then correlation coefficient between x and y is :
(1) 0.40 (2) 0.89 (3) —0.40 (4) None of these
A & <1 agel Yy & e # |

3x =10+ 5y g4y = 5 + 15y, 9 HEHIE oTich x 3R y &

(1) 0.40 (2) 0.89 (3) -0.40 4) 379 9 P 7
Who has propounded the theory of unbalanced growth ?

(1) E. Domar (2) A.O. Hirschman
(3) W. A. Lewis (4) None of these
e areigfem wiafe Rrarea @1 w2

(1) o SR (2) To 3o fasfi

(3) $=o To wifaw (4) =1 A P T
CES production function is associated with

(1) B.S.Minhas (2) Joan Robinson
(3) A.K.Sen (4) None of these
CES S %ol Hefdd & - .

(1) dlo THo firery , (2) S Afed=a=

(3) To Po /7 (4) 39 9 B T8
Knife-edge problem arises in :

(1) Solow model (2) Harrod-Domar model
(3) Kaldor model . (4) None of these
1, B YR FHRT §9 g R

(1) |rel dfed (2) T—IR Hed
(3) FTISR Hiew 4) 379 | 3% =8
Physical Quality of Life Index was calculated by :

(1) Meier G. M. (2) Morris D.

(3) Mahboobul Haq (4) None of these
SiIe SgEsie @ Wifid qorer @ Tor @) T -

(1) 9= Sffo wHo (2) =R¥T o

(3) #Eqgd &P 4) =T | BIS e

P T1:0.
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36. A bag contains 7 red, 12 white and 4 green toys. One toy is drawn from the bag. What
is the chance that it is white ? '
(1) 12/23 2) 7/23
(3) 4/23 (4) None of these

T T A 7 o, 12 I U9 4 & Raa g1 e Redm a1 9§ arex Herer forn | @
AT & f5 a8 9wg 8 °

(1) 12/23 (2) 7423

3) 4/23 (4) 3T QA PE T
37. Which is not a development expenditure of state ?

(1) Education (2) Health services

(3) Development of agriculture (4) Debt services

3 ¥ B Qe Gy T8 8 ?

(1) fRen (2) @R [AY

(3) wfy o1 fawra (4) o1 Ay
38. Which is not a measure of dispersion ?

(1) Range (2) Mean of deviation

(3) Variance (4) None of these

BHAT BT A T T8 ©

(1) 3 (2) fa=ed &1 Ay

(3) wRRoT (4) T 9 PIE T
39. If two goods are bad substitutes, indifference curve will be :

(1) astraight line (2) slope upward

(3) slope downwards (4) None of these

afe |1 A R fAwed § | SERAFAT 9 81 ¢

(1) et <@ 8rf (2) TAH HW B IR

(3) TA g B AR (4) 379 Q4 I3 TEI
40. Tax on inherited property is an example‘f of :

(1) Income tax (2) Sales tax

(3) Wealth tax (4) VAT

faRTAd Hufty R PR Th SEIER & ¢

(1) M &R (2) famr &=

(3) & &N (4) de

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)



41.

42.

43.

44,

45.

46.

Which is not element of selling cost ?

(1) transportation cost 2) expenses on advertisement
(3) salary of salesman (4) expenses on window display
BT Y T B e 9@ R 2 |

(1) I anra (2) s w® wd

(3) Tasvem &1 = (4) Rasa yesg w w=f
Keynesian economics lays more emphasis on :

(1) fiscal policy (2) monetary policy

(3) interest rate policy (4) None of these

Dol 3refere SIIET SR AT ©

(1) rora Nf (2) wifgs AN

(3) =uref g% g 4) T A B 7

High powered money is producecd by :

(1) Commercial Banks (2) Co-operative Banks

(3) Reserve Bank of India (4) None of these

T W HET 9918 ot @

(1) =iftrsy d& gr (2) FEBR §F gRT

(3) ¥Ra &1 Red d& gry (4) 31 3 g T

Green Revolution was introduced in ,

(1) 1964 (2) 1965 (3) 1963 (4) None of these
gRa 1 a1 wfeorfea frar o

(1) 1964 (2) 1965 (3) 1963 (4) 579 1 BIE e
The Bretton-woods system finally collapsed in :

(1) 1970 () 1971 (3) 1972 (4) 1973
dci-gs g guiaar w9 o7 g ?

(1) 1970 (2) 1971 (3) 1972 (4) 1973
New Economic Policy was introduced in :

(1) 1981 (2) 1991 (3) 1971 (4) 2001

:ﬁi; el Ny RISl §§ ot :

(1) 1981 (2) 1991 (3) 1971 (4) 2001

M.Phi]./Ph.D./URS-EE-Nov.-2018f(Econ'omics](SET-Y)}'(A) P10
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47.

48.

49.

50.

51.

According to Keynes, level of employment depends on :

(1) Aggregate supply (2) Aggregate demand
(3) Effective demand ' (4) None of these

Pl B IJAR, SR T TR TR &=l &

(1) B g (2) % H

(3) wurdl Hi 4) T W B T

For substitute cross elasticity of demand is :

(1) Positive (2) Negative

(3) Zero (4) None of these
fawea & forg A1 &) uR o B ¢

(1) FPRTHSD (2) TPRHD

3) I 4) ¥ A B1g 7
Solow residual is given By :

(1) A (2) % (3) % (4) None of these

et Irafdfe feagr ar €

(1) A @ £ @ A

& = (4) T | Prg T

In the sequence of numbers 8, 24, 12, X, 18, 54 the missing number X is :

1) 26 (2) 24 3) 32 (4) 36
@ @ s § 8,24, 12, X, 18,54 THE W& X © ¢

1) 26 (2) 24 3) 32 4) 36
Which is following a research tool ?

(1) Graph (2) Diagram

(3) Questionnaire (4) None of these

T A PIA—WT I SIS B ?

(1) ws (2) s>

(3) wreATE@et (4) 9 | BIg TE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)



52.

53.

54.

55.

56.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)

Chipko movement was started by :
(1) Arundhati Roy

(3) Ila Bhatt

U AN R g R o ?

2)
(4)

(1) ro=rdl I (2)
(3) zem g (4)
Grass root planning refers to :

(1) Panchayat Raj (2)

(3) Community Development Program (4)

fraer wx e 2

(1) Heamaq < (2)
(3) wHaTd faere BrieH (4)
Debt relief to farmers is part of :

(1) Plan expenditure (2)

(3) Defence expenditure

frar &1 oo A% feger R g ?

(4)

11

Medha Patkar

None of these

HET gIehr

QB

Land revenue system

None of these

A o ggfa
T A g T

Non-plan expenditure

None of these

- <
T A DY TE

A competitive firm achieves long-run equilibrium in the product market when :

MR = MC
None of these

MR = MC
ERuIIEI |

The mean of four numbers a, b, ¢, d is 100. If ¢ = 70 then the mean of the following

(1) s e (2)

(3) =em =g (4)

(1) AR=MR (2)

(3) MR = AC (4)

IE R H va gfadr f od Srdere dges o e 8, o9
(1) AR =MR (2)

(3) MR = AC (4)

numbers is :

(1) 30 (2) %i 3)

110 (4) None of these

IR F&T a, b, ¢, d &1 519 1008 | T ¢ =70 o =1 W= &1 919 2

(1) 30 ) %5 (3)

110 (4) 37H F BIE &

P.T.O.
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57.

58.

59.

60.

61.

Which of the following pollutants can cause cancer in human ?
(1) pesticides (2) mercury

(3) lead (4) ozone

1 A BT UG AT § BUL B FhaT & ?

(1) wrearers (2) 9RT

(3) s (4) 3o

Who developed the theory of comparative advantage ?

(1) David Ricardo (2) Adam Smith

(3) A.K.Sen (4) None of these
QeI T BT RigT R iR frar ?

(1) Sfas Raret (2) veH Rmer

(3) To o A (4) $7° A BIg 7Ll
What is NIC ?

(1) Newly Independent Countries (2) Newly Industrialized Countries
(3) Non-investing Countries (4) None of these
NIC =1 8 ?

(1) Y a1 <91 : (2) v ienfire g
(@) R frw ey (4) T T B A&
The purchase of goods from a foreign country is called :

(1) Re-export (2) Export

(3) Import (4) None of these
facel <o 9§ axcpelf @ wde pEer @

(1) R« faf 2) @

(3) s ,_ () T} PE T
When goods are imported for the purpose of export is called :
(1) Foreign trade (2) Entrepot

(3) Home trade (4) None of these
(1) fac=h amr (2) gt

(3) T8 AUR (4) 379 9§ BIg T8

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)



62.

63.

64.

65.

66.

Government policy about export and imports is called :

(1) Monetary Policy (2) Finance Policy
(3) Commercial Policy (4) None of these
I 9 T & R # WER B ARy FEard @

(1) wifee =ifq @) Ra B

3) s fy (@) 37 ¥ B T8
What would encourage trade between two countries ?

(1) Reduced tariffs (2) Different tax system
(3) Good relation (4) None of these
& QU & ¥ AR S RIT ggrar oI ?

(1) &9 cRw (2 faf= a= ugfa
(3) S wEy @) T Q¥ P T
Rich countries have deficit in their balance of payments :

(1) sometime (3) never

(2) always (4) None of these
3R < I YT e ¥ =rer B R

(1) & FN (2) &N T8

(3) wem (4) T q BIg TR
Pakistan is not a member of :

(1) IMF (2) OPEC

(3) World Bank (4) None of these
IR §7hT HE T&T §

(1) 3¢ v v (2) 3w

(3) fawg 9@ (4) 3 A P1E T
The largest item in our import is :

(1) Machinery (2) Petroleum

(3) Computers (4) None of these
AR AT ¥ g7 favr /2 ®

(1) == (2) ugiferam

(3) HYeR (4) TH | ®Ig 7El

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)
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67.

68.

69.

70.

71.

Govt. taxing and spending policies are called :

(1) Finance policy (2)
(3) Monetary policy (4)
PR B B W9 Ao s &

(1) foxr e (2)
(3) #ifas Nfa (4)
Government Finance is called :

(1) National finance (2)
(3) Public finance 4)
WHN T Faanar g ¢

(1) W fawr (2)
(3) wrdwe g (4)
The Govt. can collect funds from :

(1) Taxes (2)
(3) Prices of public goods (4)
ARBR HE FHGT PR Jhell &

(1) v 2)
(3) FEE et B BT (4)
It is easy and convenient to pay :

(1) Indirect tax (2)
(3) Progressive tax . (4)
TE A 9 Gfaursiep a7 faar o §
(1) 3rvcaer B | (2)
(3) wrferefier @x (4)
Who propounded principles of taxation ?
(1) Keynes (2)
(3) Adam Smith 4)
PR & gt a1 e gfmfRe faar ?

(1) &~ | (2)
(3) vsH Ruyg (4)

Fiscal policy

None of these

o iy

T & BIg T

Private finance

None of these

forft fast
T B T

Fees
All of these

BT A
T T

Direct tax

None of these

Y&l

T W PIg e

Marshall
All of these

aefe
g

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)
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73.

74.

75.

Govt. prepares its budget :

(1) Weekly (2) Monthly

(3) Annually (4) None of these
IRHR UAT qoe TIR BT 8

(1) arrfe® (2) Tl

(3) afd® (4) 79 Q@ B T8
Full form of DWCRA :

(1) Development of Women and Children in Rural Areas
(2) Direct Welfare of Children in Rural Areas

(3) Development and Welfare of Children in Rural Areas
(4) None of these

DWCRA &7 of w9 2 :

(1) STaTe e g vos ResT 59 wea g
(2) ST IABIN TP foreg 59 weer R

(3) STATHT UUE B 3% e 59 wwa viern
4) 34 | PIg T

India’s wage policy is based on :

(1) Savings (2) Productivity

(3) Cost of living (4) All of these

T A ol N ek 2 -

(1) gaqg (2) SdEIEHAT

(3) Sitg &1 g (4) T @

The main aim of Antyodaya programme is :

(1) Uplift poor (2) Uplift the farmer

(3) Uplift the urban poor (4) None of these

(1) W9 B FHUR IS (2) o @1 SR ST
(3) T=d TG BT HW TS (4) 9 9 BI1F TE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)
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76.

77.

78.

79.

30.

Income in equality
All of these

3R AT
R

Biotic factor
None of these

Sifas
$TH | By TRl

Total liabilities/total assets
None of these

el TR /Bl Fufd
9 A PIS TE

Increasing returns

None of these

gad ufdwe

Equal to fixed cost
None of these

ReR &Td & RN

Poverty in less developed countries is large because :
(1) Lack of cultural activities | (2)
(3) Lack of intelligence of people (4)
& faeRd <= § T8 saer & it

(1) wiRefas afafafdat & w9 2)
(3) @ A gfg o & (4)
The environment includes :

(1) Abiotic factor (2)
(3) Abiotic and biotic factor (4)
gfaRor # enfiet @

(1) a™tg ae (2)
(3) arotg g s T (4)
Net cépital ratio is :

(1) Total assets/total liabilities )
(3) Total income/total expenditure (4)
Bl Yol ST & -

(1) oo |aikr/ ger <1 (2)
(3) Gl 3/ Bl T (4)
Mines and Fishes are subject to the law of :
(1) Dimnishing returns (2)
(3) Constant returns 4)
@il alie ol BrE W R § -

(1) ued uliwa (2)
(3) wa wifi (4)
When variable cost is zero, the total cost will be :
(1) Equal to variable cost (2)
(3) Equal to marginal cost (4)
St yRad-eid amTd 31 8, @ | orTd ®
(1) uRad=elar amrg & s (2)
(3) @I oA & aRTER (4)

T W B T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)



81. Rural commission of agriculture submitted its report in :

(1) 1905 (2) 1928 (3) 1929
S & AT FHRE J 0= ygel RUE &g & ?
(1) 1905 (2) 1928 (3) 1929
82. Which of the following is not an input device ?
(1) Microphone ' (2) Keyboard
(3) Joystick (4) None of these
T | A emTa Aw e R
(1) ATgPIHI , (2) @rare
(3) siraRe® 4) H & ®1g 7l
83. The main characteristic of scientific research :
(1) empirical (2) experimental
(3) theoretical (4) All of these
Rrs I B =g e
(1) yanTirg (2) WARTE®
(3) i (4) 7w
84. Demand for food is income in elastic. This is explained by :
(1) Giffen paradox ~ (2) Engel'slaw
(3) Ricardo's law (4) None of these
HIST BT AT A A 8 | $9 Ted BT Al b
(1) Fifter femir (2) YT BT
(3) Rersi e | (4) T A PE T
85. ECOMARK is a symbol of :
(1) Export goods (2) Import goods
(3) Goods sale for environment (4) None of these
THHG Teh FIE §
(1) Frrafer vt (2) SmaTT awy

(3) wateRvr & fow e arer | (4) 3 & PIS A8

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)
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86. Accelerator is most comrn{)nly related to :

(1) Interest rate (2) Induced investment
(3) inventories (4) All of these
AR AR IR FaH AT @R0] Ao §
(1) &rs1 &R 9 (2) uRa faer &
(3) A ¥ @) T =

87. Whatis full form of HPI ?
(1) Human Poverty Index (2) High Productivity Index
(3) Human Productvity Index (4) None of these
HPI &1 qof w9 a1 § ?
(1) &FF gerct = 2) &% nsfiefd s
(3) A dsfaefd s=aq (4) 37 A B &

88. Which is qualitative tool of monetary policy ?
(1) Bank rate (2) Cash Reserve Ratio
(3) Credit Ceiling (4) Credit Rationing
g 1 i1 Afas N &1 JoneHd I R ?
(1) d& & (2) e IRfET U
(3) Qg ATl (4) sfse wrofHT

89. Inflation indexed Bonds is pegged to :
(1) WPI (2) CPI
(3) Both WPI & CPI (4) None of these
HEE E@ia Tis & fag s
(1) se=yg d ang - (2) ¥ O are -

(3) ey U &g ud W N ang <l (4) T ¥ B &

90. Which of the following agricultural commodities of India gives largest in terms of
export value ?

(1) Tea (2) Basmati rice
(3) Cotton (4) None of these
fFrafd e d IR @1 B B avg ST § ?

(1) =3 (2) srEfa gEe
(3) @u™ (4) T/ BIg 7E

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics) (SET-Y)/(A)



91.

92.

93.

94.

95.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)

The standard deviation of a population is 9, the population variance is :

(1) 9 2) 3 (3) 21 (4) None of ‘Liw.w.'
METET BT A famer 9 B, amard) o1 gwRoT 8n

(1) 9 (2) 3 (3) 21 4) 3% q P TE
The weight of students in a college/school is a :

(1) Continuous variable (2) Quantitative variable

(3) Qualitative variable (4) None of these

U iciet /et A frenfafat o1 aw @

(1) SRR ager are (2) ATATS IS arell

(3) WUNEHE gl dTell (4) 3T A oI TE

The minimum interest rate of a bank below which is not viable to lend is kinovwn as -
(1) Base rate : (2) Marginal rate

(3) Reserve rate (4) None of these

Uh 96 B REAAH @roT a% a0 A R o SuR Y B e /€ 98 s o &
(1) IMIR T (2) i &R

(3) Rord = (4) 31 A B3 T

Which sector is backbone of Indian economy ? |

(1) Service sector _ (2) Agriculture sector

(3) Financial sector (4) None of these

BIT—T &3 AR referaven @ O A & & 7

(1) war &= (2) BN &=

(3) R & (4) T ¥ 1 7

When was kisan call centre established ?

(1) July, 2000 (2) March, 2004

(3) January, 2004 (4) None of these

far ®rel B w9 venfaa gar ?

(1) e, 2000 (2) =g, 2004

(3) ST, 2004 (4) 39 | B T8
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96.

97.

98.

99.

100.

Which among the following is cereal ?

(1) Rice (2) Wheat

(3) Maize (4) All of these

STH W BT IS & ?

(1) = (2) T

(3) WR (4) 99 &

Which of the following is a method to measure relative poverty ?

(1) Poverty line (2) Ginni coefficient

(3) Lorenz curve _ (4) Both (2) & (3)

FAfST TR BT AU BT §TH H DA TG & °

(1) T < (2) fr=h 7ot

(3) <INS I (4) (2) @ (3)

Banks can avail refinance against loans made to industrial unit from :
(1) IDBI (2) NABARD

(3) DICGC (4) None of these

d& oenfirs gargal & Ry v o & g arT 9 9 &) |Jad & -
(1) o <& & o (2) e

(3) < amg ¥ SN WA (4) 39 A BIg T8

The financial institute IFCI was established in :

(1) 1947 (2) 1948 (3) 1949 (4) 1950
fa<i wRer IFCI venfOe g3 o ¢

(1) 1947 (2) 1948 (3) 1949 (4) 1950
The ICICI was formed in :

(1) 1955 (2) 1952 (3) 1953 (4) None of these
[CICI =1 o1 :

(1) 1955 (2) 1952 (3) 1953 (4) T A Pig T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(A)
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1. When receipts of foreign exchange are more than payments of foreign exchange, BOP
181

(1) Balanced (2) Surplus
(3) Deficit (4) Autonomous
o9 faceh faft @ wfts R Rffrg & sy 1 s €, @9 BOP ©
(1) wgfera (2) amferaa
(3) =rer _ (4) =
2. APC can never be :
(1) positive (2) zero
(3) more than one (4) none of these
APC &4 €l 81 |acl 8 ¢
(1) APRIHD 2) TI -
(3) TH A wTET (4) 3 | P T
3. The slope of autonomous investment line ?
(1) slope=0 (2) slope>0
(3) slope<0 (4) none of these
Ty fer 3@ o s R
(1) &9 =0 (2) g >0
(3) s <0 (4) 379 A g &
4. Philip curve setsup a relation between:
(1) Taxes and inflation (2) Inflation and unemployment
(3) Price and cost of production (4) None of these
ffea s dra <dder q=m @ :
(1) R T garmifa (2) RSB T RIS
(3) BHT T IAEH DI AT (4) s A P1g T
5. Which of the following is not related to empowerment of women ?
(1) Gender Budgeting (2) Gender Development Index
(3) Gender discrimination (4) All of these
fr=iforfad o1 afeer wwfadavor & &l 78 2 ?
(1) e 9uie (2) fo R gas
(3) foivr favig (4) 3 =h

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B) P.I.O.



6. Giffen paradox occurs when income effect is :

(1) Equal to substitution effect - (2) Less than substitution effect
(3) Greater than substitution effect (4) None of these
s ARy grar € STEl gy @
(1) ufReTIT w3ra & aRTa” (2) vRRemTT w¥E | P
(3) wfeRemu yvrE A SUTET (4) =78 9§ B8 TE
7. FRBM Act 2012 put a ceilings to fiscal deficit : -
(1) 6 percent (2) 5 percent
(3) 4 percent (4) None of these
FRBM uae 2012 fawr =1 & A1 e ®
(1) 6 wfcrera (2) 5 wferera
(3) 4 wfcrerd (4) o & g TE
8. How many countries are the members of Europeon Union ?
(1) 28 (2) 25 (3) 26 (4) None of these
R W B R S e & ?
(1) 28 (2) 25 (3) 26 (4) 399 | BIg T8I
9. According to Keynes, the aggregate supply curve during depression :
(1) horizontal (2) vertical
(3) tilts upward to right (4) None of these
Bt B IR WA D R Bl YR T -
(1) &ferst (2) @
(3) W I NP Feeil & @ T e
10. If a linear consumption function passes through the origin, it means ?
(1) APC>MPC (2) APC <MPC
(3) APC = MPC (4) None of these
I v IRgPp STHRT HeF 39D SART & AEIH | JoRdl @, i
(1) APC > MPC (2) APC <MPC
(3) APC = MPC (4) 3% Q@ B3 B

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



11. The standard deviation of a population is 9, the population variance is :

(1) 9 (2) 3 (3) 21 (4) None of these
JAMETE! BT AEG ATt 9 B, JAETEY BT THR0T BT
M9 () 3 3) 21 (4) ¥ & BIg &l
12. The weight of students in a college/school is a :
(1) Continuous variable (2) Quantitative variable
(3) Qualitative variable (4) None of these
T Biciol /wher ¥ fenfial &1 vk & -
(1) TR 9ge arel (2) WS g gl
(3) TONHE qIe el (4) T W BIg &
13. The minimum interest rate of a bank below which is not viable to lend is known as :
(1) Base rate (2) Marginal rate
(3) Reserve rate (4) None of these
Ud e B YA @61 TR S A 8 W SUR o7 @ difdet /e & ST o @
(1) JIWR & (2) AT &=
(3) Rord @ 4) ¥ ¥ B &
14. Which sector is backbone of Indian economy ?
(1) Service sector (2) Agriculture sector
(3) Financial sector ' (4) None of these
BT & Wl sl @ 9 A &G & 7
(1) e &= 2) P &
(3) faxhra &= (@) T | B T
15. When was kisan call centre established ?
(1) July, 2000 (2) March, 2004
(3) January, 2004 (4) None of these
far wrer dw ®H9 enfia gan ?
(1) e, 2000 (2) #rd, 2004
(3) STTaR), 2004 (4) 3 | B T8

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B) P.T.O.



16.

3 3

18.

19.

20.

21.

Which among the following is cereal ?

(1) Rice (2) Wheat (3) Maize (4) All of these

STH | B9 I & ?

(1) =t (2) T (3) wR (4) ¥ ¥ Wl
Which of the following is a method to measure relative poverty ?

(1) Poverty line (2) Ginni coefficient

(3) Lorenz curve (4) Both (2) & (3)

Hefere TR DI AIA BT SHH A DA TRIDI B 7

(1) & T (2) =R 7ories

(3) RS a5 (4) (2) v@ (3) <

Banks can avail refinance against loans made to industrial unit from :

(1) IDBI (2) NABARD

(3) DICGC (4) Norne of these

do enfire ol o Ry T =0 & fOvg et g o<t o) |@a6d @ ¢

(1) =g € & ag (2) TS

(3) o Mh A @) 37 ¥ B T

The financial institute IFCI was established in :

(1) 1947 (2) 1948 (3) 1949 (4) 1950
iy weer [FCI werfia gar o -

(1) 1947 (2) 1948 (3) 1949 (4) 1950

The ICICI was formed in : :

(1) 1955 (2) 1952 (3) 1953 (4) None of these
ICICI 941 o7 - _

(1) 1955 (2) 1952 (3) 1953 (4) TH | B1g 72
Who propounded principles of taxation ?

(1) Keynes (2) Marshall

(3) Adam Smith (4) All of these

= & Rigra 1 R aRfRa Rw ?

(1) @4 (2) HETA

(3) weH Rmar @) 3 af

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



22. Govt. prepares its budget :

(1) Weekly (2) Monthly

(3) Annually (4) None of these
WRGR HUAT gole TIR BT §

(1) wr<fed (2) Wiy

(3) aIffes 4) 379 & B &

23. Full form of DWCRA :
(1) Development of Women and Children in Rural Areas
(2) Direct Welfare of Children in Rural Areas

(3) Development and Welfare of Children in Rural Areas
(4) None of these

DWCRA &7 qof &9 2 :
(1) SgaHe 3ffs ga+ s Riegw 59 et uRa

)
(2) SrEvaT deBIR Sfft fegT g7 e gRa
(3) SgAUHE YUS JaDIX 3% Riegd 9 wwel gRam
(4) 39 @ @3 7El
24. India's wage policy is based on :
(1) Savings (2) Productivity
(3) Cost of living (4) All of these
WRA Pl A AT R R
(1) d=qd (2) SUTEHT
(3) Stas &1 wd (4) 3 R
25. The main aim of Antyodaya programme is :
(1) Uplift poor (2) Uplift the farmer
(3) Uplift the urban poor (4) None of these
HeAIGy BRIHH HT T Seed B
(1) T B FR ™I (2) &AM &I FWR IS
(3) IEN T B FIR SSHT (4) 3TH | BIE T8

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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26. Poverty in less developed countries is large because :

(1) Lack of cultural activities (2) Income in equality
(3) Lack of intelligence of people (4) All of these
o faafaa <o # WS e @ w9
(1) wresfae Tfafafea & o (2) 3T AT
(3) @t # gfg @ I (4) ¥
27. The environment includes :
(1) Abiotic factor (2) Biotic factor
(3) Abiotic and biotic factor (4) None of these
qTaRo] #§ wiAe @
(1) 3rtg a«@ (2) Sifdw d@
(3) entg g vfaw a@ (4) 3 9 P T8
28. Net capital ratio is :
(1) Total assets/total liabilities (2) Total liabilities/total assets
(3) Total income/total expenditure (4) None of these
H Yol AU ®
(1) o wufr/ e i (2) o A /et s
(3) @ A/ et T (4) ¥ & P T
29. Mines and Fishes are subject to the law of :
(1) Dimnishing returns (2) Increasing returns
(3) Constant returns (4) None of these
(1) =ed ufdwe (2) ded ufawa
(3) W wifwT (4) ¥ A B
30. When variable cost is zero, the total cost will be :
(1) Equal to variable cost (2) Equal to fixed cost
(3) Equal to marginal cost (4) None of these
g uRad=eie arTd IR ®, O B AN ©
(1) uRe=Ee AN & aRTeR (2) ReR &FTd & aRTER
(3) T FTd @ SR (4) ST 9 PE Bl

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



31.

32.

33.

34.

35.

Which is following a research tool ?
(1) Graph

(3) Questionnaire

()
(4)
T A BT STHIT SYPRT B ?

(1) 9% (2)
(3) vt (4)
Chipko movement was started by :

(1) Arundhati Roy (2)
(3) Ila Bhatt (4)

AP IR fhan g s o ?

(1) oot Xt (2)
(3) sa g (4)
Grass root planning refers to :

(1) Panchayat Raj 2)

(3) Community Development Program (4)

g wr e g
(1) vard T 2)
(3) WHET fAsry HRiHH (4)
Debt relief to farmers is part of :
(1) Plan expenditure (2)

(3) Defence expenditure

fepamt 1 Bol w fheeT fowr 7 ?

(4)

Diagram

None of these

ARY
TH @ B T

Medha Patkar
None of these

BT UTEhT

TH | BIE TE

Land revenue system

None of these

4y Irova ugfy
T W BIS TE

Non-plan expenditure
None of these

(1) e = 2) R—FReE e

(3) <& Ty (4) 37 | B T8I

A competitive firm achieves long-run equilibrium in the product market when :
(1) AR=MR (2) MR=MC

(3) MR = AC (4) None of these

S R ¥ g gl o Sewre dae urw aRd) 8, o

(1) AR =MR (2) MR =MC

(3) MR=AC 4) 3 A BIg TE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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36. The mean of four numbers a, b, ¢, d is 100. If ¢ = 70 then the mean of the following

numbers is : _
(1) 30 (2) 8—5 (3) 110 (4) None of these
IR A& a, b, ¢, d &1 A 1008 | IR ¢ =70 o =1 deeqm &1 919 @ -
(1) 30 ) %5- 3) 110 @) 3T QA B
37. Which of the following pollutants can cause cancer in human ?
- (1) pesticides (2) mercury
(3) lead (4) ozone
$H W DI YU AFG H DR G AT & 7
(1) DdIeARSd (2) 9T
(3) < (4) oA+
38. Who developed the theory of comparative advantage ?
(1) David Ricardo (2) Adam Smith
(3) A.K.Sen (4) None of these
qeriTensd o &1 Rigr fea fasfa fear ?
(1) Sfas Rarst (2) TsH ¥y
(3) To Po I (4) 99 | BIs oI
39. Whatis NIC?
(1) Newly Independent Countries (2) Newly Industrialized Countries
(3) Non-investing Countries (4) None of these
NIC &1 7 ?
(1) Y ¥ <2 (2) -V Sienfie <
(3) R foawr qw (4) 39 ¥ B3 T8I
40. The purchase of goods from a foreign country is called :
(1) Re-export (2) Export
(3) Import (4) None of these
el <o | gwgell @ w¥E FEARN ©
(1) = @ fafa ) Frfa
(3) mara (4) 379 | P13 A8l

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



41.

42,

43.

44,

45.

Let the two regression lines be given as :
3x =10 + 5y and 4y = 5 + 15x. Then correlation coefficient between x and yis:
(1) 0.40 (2) 0.89 (3) -0.40 (4) None of these

3x=10+5yQEf4y=5+15x,H&WHWxSﬁ‘\’y%:

(1) 0.40 (2) 0.89 (3) -0.40 ©(4) 3H A PSS
Who has propounded the theory of unbalanced growth ?

(1) E.Domar (2) A.O.Hirschman
(3) W. A. Lewis - (4) None of these
e origfr wiaf Rt @ sRrf fwar ?

(1) 3o SR (2) To allo fRefdm
(3) S=go To wfdw (4) 379 A @I FE
CES production function is associated with :

(1) B.S. Minhas (2) Joan Robinson
(3) A.K.Sen (4) None of these
CES ST Her Hafed &

(1) o THo M= (2) S Afe=a

(3) Yo Po A (4) T79 9 B3 T
Knife-edge problem arises in :

(1) Solow model (2) Harrod-Domar model
(3) Kaldor model (4) None of these
T, B HR FHRT 377 g0 B

(1) Helr Afee 2) Re—emR Hiea
(3) BIEER Hied 4) 37 | B1g TR
Physical Quality of Life Index was calculated by :

(1) Meier G. M. (2) Morris D.

(3) Mahboobul Haq (4) None of these
S DD B AifdTd [orasr Y qorT @Y e

(1) ¥R Sflo THo (2) =IRH o

(3) #EYg TF (4) T W H1E T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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46.

47.

48.

49.

50.

A bag contains 7 red, 12 white and 4 green toys. One toy is drawn from the bag. What
is the chance that it is white ?

(1) 12/23 (2) 7/23
(3) 4/23 (4) None of these

@ & 7 o, 12 W9T 06 4 W Reei #1 1o Rad @ 4 @ arex Prarer Rerar | 7
A1 © fb 98 e 2 ?

(1) 12/23 ' (2) 7/23

(3) 4/23 (4) 379 & g TE
Which is not a development expenditure of state ?

(1) Education (2) Health services
(3) Development of agriculture (4) Debt services
T W -1 iery =9 78 & ?

(1) e (2) w@rRey |d

(3) @f @1 R (4) o g
Which is not a measure of dispersion ?

(1) Range (2) Mean of deviation
(3) Variance (4) None of these
helTd BT 7Y 399 A T8I © ¢

(1) I ‘ (2) faTe= &1 Ary
(3) wHRUl (4) 37 & Py 7O
If two goods are bad substitutes, indifference curve will be :
(1) astraight line (2) slope upward
(3) slope downwards (4) None of these
e <1 A RTE fadwed € | SgRiEdT 9 8N

(1) el @ el (2) T HWR B 3R
(3) TaE A B AR (4) 37H A BIE Al
Tax on inherited property is an example of :

(1) Income tax ‘ (2) Sales tax

(3) Wealth tax (4) VAT

faR~Tg WUy R R TH ISR |

(1) 3T &+ (2) = +=

(3) &9 WX - @) de

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



51.

52.

33.

54.

55.

11
Shadow prices can be called :
(1) Imputed cost (2) Opportunity cost
(3) Both (1) & (2) (4) All of these
WBTE BHT B FEd E
(1) sraRIfT arTa (2) ATER ARTA
(3) (1) 7 (2) <Hr (4) T =R
The GST will subsume :
(1) Entertainment tax (2) Value added tax
(3) Union excise duty (4) All of these
Sigeiet # aRRafda /enfier grm -
(1) FIRSH % (2) o afig &=
(3) YfraT STE Yoh (4) 3 R
Which tax is imposed solely by the government ?
(1) Sales tax (2) Excise tax
(3) Custom duty (4) None of these
PIF—T B Dl IRSGR GRT AT 7T ?
(1) fomr o= (2) S Yo
(3) ¥ gp 4) 3T 9@ BIg 7
Which country introduced paper currency systerﬁ first in the world ?
(1) England (2) USA
(3) India (4) Sweden
HHR H Fa TEel DTS g1 BT 6 qw ¥ g b ?
(1) gwers (2) LTE T
(3) R S (4) ¥reA

In a multiple regression the regression coefficient are to be used. Which test would be
used ? '

(1) d-test (2) t-test
(3) F-test (4) None of these

SEUfTAE # gfenTa Torie 1 werT fRar S ¥ 1§ PH-W qheror o ganr fear
STQ ?

(1) d-greror (2) t-uRreroT
(3) F-uxegor (4) 37 A g &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B) P.T. O.



12 : : B

56. Simplex method is used for solving the problem of :

(1) Input-output model. (2) Regression
(3) Linear programming (4) None of these
e Al wawell @ gersm & fog v & ol @
(1) SmTa—faTa Afsa (2) vl
(3) s g | 4) = ¥ IS 7L
57. The analysis of variance is carried out by using :
(1) t-test (2) z-test (3) F-test (4) None of these
5T ST W B &1 fgeror e smar g ?
(1) t-u<lefor (2) z-geror (3) F-u<ieror (4) 39H | PIS T8I
58. Which is a non-probability based sampling method ?
(1) quota sampling (2) simple random sampling
(3) systematic sampling (4) None of these
IR—FWTET SR FqATRRT A B & 2
(1) IeT TFATHROI (2) AT TGS T
(3) waRerd AHATHRT (4) 370 4§ B TE
59. Given production function Q = AL" Kﬂ, o, B, increasing returns to scale requires
that :
(1) a+p=1 (2) a+p>0
B) a+p>1 (4) None of these
fag Ty S@eT B Q= ALK, o, >0 9e0 UREE & THE @ U e ©
(1) a+p=1 2) a+p>0
(B) a+p>1 (4) s7H A B TE
60. Embodied technical change model is based on which production function ?
(1) CES (2) Cobb-Douglas
(3) VES (4) None of these
dEATe! URadH AN Aled fha Ies e iR iR 8 7
(1) CES Q) Bre—<TaH
3) VES (4) T & BIg &

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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64.

65.

66.

13
Which is not element of selling cost ?
(1) transportation cost (2) expenses on advertisement
(3) salary of salesman (4) expenses on window display
BT ) T BT R T B ?
(1) I SRTd () fasme ) @g
(3) fasbar &1 I+ (4) Raga! g R @l
Keynesian economics lays more emphasis on :
(1) fiscal policy (2) monetary policy
(3) interest rate policy (4) None of these
Bl HfIRA SRT SR T §
(1) o Hifa (2) #ifee Ny
(3) & &R AIfd 4) 9 & ®1g 78
High powered money is producecd by :
(1) Commercial Banks (2) Co-operative Banks
(3) Reserve Bank of India (4) None of these
e W Hal 918 W7l ®
(1) af¥rsa §& gri (2) AEHN 9P gRI
(3) wRT &1 R d& grr (4) T & B1E 7E
Green Revolution was introduced in :
(1) 1964 (2) 1965 (3) 1963 (4) None of these
gRa HIf~T &1 uftrarfed fsar e
(1) 1964 (2) 1965 (3) 1963 (4) 37 q BE TE
The Bretton-woods system finally collapsed in :
(1) 1970 (2) 1971 (3) 1972 (4) 1973
Sei-gs ygfd pfaar o9 g8 7 ?
(1) 1970 (2) 1971 (3) 1972 (4) 1973
New Economic Policy was introduced in :
(1) 1981 (2) 1991 (3) 1971 (4) 2001
(1) 1981 (2) 1991 (3) 1971 (4) 2001

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B) P.T. O
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67.

68.

69.

70.

71

According to Keynes, level of employment depends on :

(1) Aggregate supply (2) Aggregate demand

(3) Effective demand (4) None of these

BT B ATAR, ISR &1 KR i & 2

(1) % g @ am

(3) T AT (4) T 9§ IS T

For substitute cross elasticity of demand is :

(1) Positive (2) Negative

(3) Zero (4) None of these

fawen & fog AFT @) IR o ® ¢

(1) HPRIHD (2) TPRIHSD

(3) T3 (4) 371 Q@ B1g 7

Solow residual is given by :

(1) A (2) éf— (3) %(IS | (4) None of these
ATt sraf¥ne fear T3 @ -

1) A @ 4 @ = @ & A o

In the sequence of numbers 8, 24, 12, X, 18, 54 the missing number X is :

(1) 26 (2) 24 (3) 32 (4) 36
AT B ATHA F 8,24, 12, X, 18, 54 TG GE&AT X ¥

(1) 26 (2) 24 (3) 32 (4) 36
When goods are imported for the purpose of export is called :

(1) Foreign trade (2) Entrepot

(3) Home trade (4) None of these

o7 gt Frfa Bt @ fr s @) o 2, 9 A R

(1) faceh =R (2) yAfaE

(3) € IMUR (4) T A DIg &I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



72. Government policy about export and imports is called :

(1) Monetary Policy (2) Finance Policy

(3) Commercial Policy (4) None of these

I 9 i B aR # WWER @ Dy wrarh 2

(1) #ifgss fa . (2) fog -ifa

(3) aiforsr < (4) 379 9§ P ABl
73. What would encourage trade between two countries ?

(1) Reduced tariffs (2) Different tax system

(3) Good relation (4) None of these

|1 23 @ 41 WUR B FGT ggrar oI ?

(1) &9 R% 2) = &= ugfa

(3) 3R ey (4) 399 | P TE
74. Rich countries have deficit in their balance of payments :

(1) sometime (3) never

(2) always (4) None of these

3R <M 30 I WS # Hrer giar R

(1) @ & ' (2) PN &

(3) wHem (4) & Q@ B1g FEl
75. Pakistan is not a member of :

(1) IMF (2) OPEC

(3) World Bank (4) None of these

QP §97T v T8 ©

(1) 3¢ U9 U% () s

(3) foza 9% (4) 1 & B TEI
76. The largest item in our import is :

(1) Machinery (2) Petroleum

(3) Computers (4) None of these

BN AT H g7 v/ He #

(1) == (2) ugiferaH

(3) PR 4) 3 W PIg =K

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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77. Govt. taxing and spending policies are called :

(1) Finance policy (2) Fiscal policy
(3) Monetary policy : (4) None of these
TRER B TR G @I Al HeAl &
(1) fasr (2) wrora Ay
(3) Ak A (@) T ¥ B
78. Government Finance is called :
(1) National finance (2) Private finance
(3) Public finance (4) None of these
WHR) o dedm &
(1) < faa (2) o o=
(3) wdufa® fa (4) 39° I B8 TEI
79. The Govt. can collect funds from :
(1) Taxes (2) Fees
(3) Prices of public goods (4) All of these
TAIPR BS FTHGI B FhA & : '
(1) &R 4| (2) o A
(3) WS g D DrEd | (4) I R
80. Itis easy and convenient to pay :
(1) Indirect tax (2) Direct tax
(3) Progressive tax (4) None of these
T8 I 9 Glemere sl fhar S €
(1) IUTTET B (2) ugeT X
(3) wnfaeiar @ 4) T | B TE
81. The cross elasticity of demand is applicable to :
(1) substitute goods (2) inferior goods
(3) superior goods (4) None of these
AT @ IR g W AR B ©
(1) R awqgl @) P @R & W
(3) ¥ER AHH (4) 379 @ B T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics(SET-Y)/(B)



82.

83.

84.

85."

86.

The law of demand is applicable to :

(1) Normal goods (2) inferior goods

(3) prestige goods (4) all of these

|7 @1 aE o] BT §

(1) AR AT - 2 = afc @ JmmE
(3) ufa=T IRy (4) F |

Indirect demand is also known as :

(1) derived demand (2) composite demand
(3) joint demand (4) all of these

Jvee] HT BT ol ST O €

(1) gaa=1 |4 (2) 9T HAT

(3) Wgad AR (4) T |

Market demand is an aggregate of purchasing by :

(1) two buyers (2) one buyer

(3) all buyers (4) None of these

TR AT WATEN BT UF B © :

(1) = wEER (2) T @HTER

(3) ¥+ WRIERR (4) ST A BIg TE

In a market economy, the basic economic decision are driven by :
(1) Governments (2) Business owners

(3) Individuals (4) All of these

U dIoTR Srferdeel | o onfdie dhwe forg o €

(1) WHR gRI (2) FgA™ & AlfeTd gIRT
(3) afdral g @) I

The difference between the gross value added and net value added is :
(1) investment (2) depreciation

(3) value added (4) production flow
Fhe o Gire 9 Y| A 9IS B IR BT B & ¢

(1) foraer (2) Tee

(3) e (4) SR TS

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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87.

88.

89.

90.

91.

Benefits or harm caused by a firm without payment/penality is called :

(1) Externality (2) Loss

(3) Investment (4) None of these

T BH GRS /SEAT RU @R am ar g1 &1 891 el @
(1) 9rer (2) =

(3) foder (4) 379 | BIg TEI

When incomes increases, consumption :

(1) Remains constant (2) Decreases

(3) Both (1) & (2) (4) Increases

STd ST dedl & a1 SUHRT

(1) @aa <& 2 | (2) wedr &

(3) (1) wd (2) T (4) 9a1 &

At the equilibrium level of income :

(1) S=1 (2) S>1

(3) 5<1 (4) None of these

3T P [RITIRAT TR

(1) S=1 (2) S>1

(3) S<1 (4) 3779 & g T8

At the break even level of income :

(1) Income = Consumption (2) Income < Consumption
(3) Income > Consumption (4) None of these

A & A—AT TR W

(1) 3ma = IUHRT (2) 3T < ITHT

(3) 31T > SUHNT ‘ (4) sTH | B TEI

Rural commission of agriculture submitted its report in :

(1) 1905 (2) 1928 ©(3) 1929 (4) None of these
P b o B A o uEeh R wa & ?

(1) 1905 (2) 1928 (3) 1929 (4) 379H & B3 F7LI

"M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(B)



92.

93.

94.

95.

96.

Which of the following is not an input device ?

(1) Microphone (2) Keyboard

(3) Joystick (4) None of these
(1) ATgEhIBIA () PErS

(3) Shrafkcs (4) T A g T
The main characteristic of scientific research :

(1) empirical (2) experimental
(3) theoretical (4) All of these
fasim GWT!?H'I_"T El = g :

(1) warRrg (2) TS

(3) dgifas @) A Th
Demand for food is income in elastic. This is explained by :
(1) Giffen paradox (2) Engel's law
(3) Ricardo's law (4) None of these
Ao @) | Y A" B | 39 a1 afdfa fasar

(1) Frfde R (2) Yret B
(3) Rearst s (4) 3 A DIg TE
ECOMARK is a symbol of :

(1) Export goods (2) Import goods
(3) - Goods sale for environment (4) None of these
gD U g 2

(1) Prifer =g (2) s Tl

(3) wafaver & foru {Aes arer ammE 4) 378 | Bg T

Accelerator is most commonly related to :

(1) Interest rate (2) Induced investment
(3) inventories (4) All of these

AR AR R F99 [1ET @R Fafdd 2 ¢

(1) &S &R 9| (2) uRa A 9§

(3) 71 WA (4) T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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97. Whatis full form of HPI ?

(1) Human Poverty Index (2) High Productivity Index
(3) Human Productvity Index (4) None of these
HPI &) qoi w9 &1 § ?
(1) &A= garet g=av 2) e Wefieffd e
(3) T ursldefad) sea (4) TTH | PIg T8I

98. Which is qualitative tool of monetary policy ?
(1) Bank rate (2) Cash Reserve Ratio
(3) Credit Ceiling (4) Credit Rationing
T 9 BF-—a1 difas Y &1 qorers @5 8 7
(1) % (2) e IARIEE U
(3) ¥rRg AT (4) wfse T

99. Inflation indexed Bonds is pegged to :
(1) WPI 2) CPI
(3) Both WPI & CP1I (4) None of these
YERHIN Gadhies g & fog i F oy
(1) Seg @ Mg (2) ¥ dr ermé

(3) sy @ aE ud W O ang T (4) T | g T

100. Which of the following agricultural commodities of India gives largeét in terms of
export value ?

(1) Tea (2) Basmati rice
(3) Cotton (4) None of these
Frafd geg # TRa @ S HY a7 SaeT § 2

(1) =g (2) arFHfa Arad
(3) Pu (4) T8 | BIE T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(B)
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Which is not element of selling cost ?

(1) transportation cost (2) expenses on advertisement
(3) salary of salesman (4) expenses on window display
ST fSm! arTa @1 T 78 @ ?
(1) IrarTd arTd (2) s w® =
(3) fasvar &7 A (4) Ragah uged ) wat
Keynesian economics lays more emphasis on :
(1) fiscal policy (2) monetary policy
(3) interest rate policy (4) None of these
Dol FRARA SITET WR <l &
(1) o +ifa 2) #ifas _
(3) &1 &= AIfa (4) 378 & P1g &
High powered money is producecd by :
(1) Commercial Banks (2) Co-operative Banks
(3) Reserve Bank of India (4) None of these
Rizz o RIE ﬂm 978 W © -
(1) aiorsy 9% gri (2) WEBRI dF R
(3) wRa &1 Rord d&6 gRo (4) 7 | B T
Green Revolution was introduced in :
(1) 1964 (2) 1965 (3) 1963 (4) None of these
Ra T a1 e R o -
(1) 1964 (2) 1965 (3) 1963 (4) 378 3 Pg FE
The Bretton-woods system finally collapsed in :
(1) 1970 (2) 1971 (3) 1972 (4) 1973
- dci-gs ugfa gofaar o9 ' 8 ?
(1) 1970 (2) 1971 (3) 1972 (4) 1973
New Economic Policy was introduced in :
(1) 1981 (2) 1991 (3) 1971 (4) 2001
3 anfdie Ny g g8 o
(1) 1981 (2) 1991 3) 1971 (4) 2001

P T



7. According to Keynes, level of employment depends on :

(1) Aggregate supply (2) Aggregate demand
(3) Effective demand (4) None of these
Fe B IR, AR BT WR R B 2
(1) % 9 (2) g A
(3) Wy AT - (4) ¥ & P1g T
8. For substitute cross elasticity of demand is :
(1) Positive (2) Negative
(3) Zero : (4) None of these
faweq & forg AT @ IR @ 8
(1) HORIHD (2) THRIHD
@ W (@) ¥ & A
9. Solow residual is given by :
(1) A ‘ (2) % (3) —A?K (4) None of these

el erafdre fear T

1 A o 22

@ o (@) T} PE

10. In the sequence of numbers 8,24, 12, X, 18, 54 the missing number X is :

(1) 26 2) 24 (3) 32 (4) 36
@ B o # 8,24, 12, X, 18, 54 TR e X ®
(1) 26 (2) 24 (3) 32 (4) 36

11. Shadow prices can be called :

(1) Imputed cost (2) Opportunity cost
(3) Both (1) & (2) (4) All of these
RS DT BT HEJ ©

(1) SrEaRIE dHTd (2) TR AT

(3) (1) 9 (2) A (4) T |

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



12. The GST will subsume :

(1) Entertainment tax (2) Value added tax
(3) Union excise duty (4) All of these
SiedY # uRafda /enfe 8rm -
(1) TR B 2) g9 aftfa &=
(3) FfE SR Yo (4) I T
13. Which tax is imposed solely by the government ?
(1) Sales tax (2) Excise tax
(3) Custom duty (4) None of these
PIF—T PR DIl TRBR gRT 241 717 ?
(1) famr & - (2) IR b
(3) ©rI Y (4) 3H | P13 6l
14. Which country introduced paper CLirrency system first in the world ?
(1) England (2) USA
(3) India (4) Sweden
HER § F9d ggcl BrTSN g&T B fHF w7 g fFar ?
(1) s . (2) T Y
@) ¥Ra - (4) =T
15. Ina multiple regression the regression coefficient are to be used. Which test would be
used ?
(1) d-test (2) t-test
- (8) F-test (4) None of these
ggaform # ufese [one &1 geror fhar S 81 R P et b1 s fhar
STQT ?
(1) d-uefor (2) t-uReor
(3) F-udiefor (4) 399 A BIZ B
16. Simplex method is used for solving the problem of :
(1) Input-output model (2) Regression
(3) Linear programming (4) None of these
ad ffd wawmelt @ gersm & fow v @ ol @
(1) smTa—fara Arsa (2) gferm=
(3) Raaw grmfaT 4) 37 | B Tl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C) P.T.O.



17. The analysis of variance is carried out by using :

(1) t-test (2) z-test (3) F-test (4) None of I.'hese
ReeT ST GRS Arar &1 fageigor fFeren orar 8 ? |
(1) t-oeroT (2) z-TETo] (3) F-udieo (4) STH A BIg Tl
18. Which is a non-probability based sampling method ?
(1) quota sampling (2) simple random sampling
(3) systematic sampling (4) None of these
AR STeTRe ARl Ry A g ?
(1) DICT THATHRT (2) A AGREE THAI
(3) cafRerd TR (4) 37 A ®Ig
19. Given production function Q = AL’ Kﬁ, a, B > 0, increasing returns to scale requires
that :
(1) a+p=1 2) a+p>0
B) a+p>1 (4) None of these
frg T wared we Q= AL K’ o, B> 0 ged ufiea & YA @ forg siawdd ©
(1) a+p=1 2) a+p>0
@) a+p>1 (4) =7 A B3 7Tl
20. Embodied technical change model is based on which production function ?
(1) CES (2) Cobb-Douglas
3) VES (4) None of these
T aRad= eraefia Afed fra Scred e W R 7 7
(1) CES (2) Pie—sTaH
3) VES (4) 9% & BI% TEI
21. The cross elasticity of demand is applicable to :
(1) substitute goods (2) inferior goods
(3) superior goods (4) None of these
#AT @Y UR ol W AR B E
(1) fawea awqy ) f= wife & JEE
(3) &R A (4) T A B1E T

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



22.

23.

24.

25.

26.

The law of demand is applicable to :

(1) Normal goods (2) inferior goods

(3) prestige goods (4) all of these

(1) WATERT AW () =1 sife & |
(3) wfresT avgd (4) 3w

Indirect demand is also known as :

(1) derived demand (2) composite demand
(3) joint demand (4) all of these

3ycgel AT BT W AT ST §

(1) g1 4T ' (2) \HT A

(3) wg T (4) & wh

Market demand is an aggregate of purchasing by :

(1) two buyers (2) one buyer

(3) all buyers (4) None of these

IR HAT WNIEER] &1 U6 Bl o

(1) < EoEaR | 2) TP @heER

(3) T WK (4) 39 | PIg TE

In a market economy, the basic economic decision are driven by :
(1) Governments _ (2) Business owners

(3) Individuals (4) All of these

T ISR 3fefeqaRell # e i dwrel forg o §

(1) ¥RPR gRT (2) TIA™ & HfAD §RT
(3) =faaal grRr . (4) I |

The difference between the gross value added and net value added is :
(1) investment (2) depreciation

(3) value added (4) production flow
Fhdl & SIS T & ol WIS B IR Bl bed &

(1) fae (2) euerd

(3) T S (4) SRS YarE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)
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27.

28.

29.

30.

31.

Benefits or harm caused by a firm without payment/penality is called :

(1) Externality (2) Loss

(3) Investment (4) None of these
wwﬁmgﬂmﬂ/Wﬁvaﬁ?mmaﬁw@mW%:

(1) drerar 2) &=

(3) frramr (4) 3 A oI AE

When incomes increases, consumption :

(1) Remains constant (2) Decreases

(3) Both (1) & (2) | (4) Increases

W9 M g & al STHIT

(1) wad Y&l © : (2) Tredr @

(3) (1) (2) < (4) @ &

At the equilibrium level of income :

(1) 5=1 2] 5=k

(3) S«<1 (4) None of these

M & ATITERAT WX

1) 5=1 (2) S>1

(3) S<1 , (4) T A BIg TEl

At the break even level of income :

(1) Income = Consumption (2) Income < Consumption
(3) Income > Consumption (4) None of these

I B AT WR R - _

(1) amg = SuEN (2) 3 < TIHT

(3) 3 > SUHIT (4) 3T ¥ BIg TE

The standard deviation of a population is 9, the population variance is :
(1) 9 (2) 3 (3) 21 (4) None of these
AT BT AFE faeE 9 § €T BT TR B

(1) 9 2) 3 @) 21 (4) TH W DIy T

M.Phil/Ph.D.JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



32.

33.

34.

35.

36.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)

The weight of students in a college/school is a :

(1) Continuous variable (2) Quantitative variable
(3) Qualitative variable (4) None of these
UH Biet /That ¥ il o1 9r 2
(1) IR g arell (2 AFATHS §Ger dTe
(3) TOHTH FET QT (4) T A P1E &
The minimum interest rate of a bank below which is not viable to lend is known as :
(1) Base rate (2) Marginal rate
(3) Reserve rate (4) None of these
U db @ ATH TS &Y gaHl Al 8 Ol SR o7 & Pifdal /el F8l S Sl @
(1) MR (2) Wi &
(3) Rerd = 4) 379 9/ B TE
Which sector is backbone of Indian economy ?
(1) Service sector (2) Agriculture sector
(3) Financial sector (4) None of these
DIF—T &3 R spefegaven & Ag & & & ?
(1) war &= 2) PfY a=
(3) fa<ha &= (4) 3 & PIg TE
When was kisan call centre established ?
(1) July, 2000 (2) March, 2004
(3) January, 2004 (4) None of these
far @1 B w9 fiT gorr ?
(1) Sjers, 2000 (2) =g, 2004
(3) A<y, 2004 (4) TH I P T2
Which among the following is cereal ? .
(1) Rice (2) Wheat (3) Maize (4) All of these
STH W DA AT § ? '
(1) =rae 2) T (3) wER (4) o7 & Wl

B.T. O.



37. Which of the following is a method to measure relative poverty ?

(1) Poverty line (2) Ginni coefficient
(3) Lorenz curve (4) Both (2) & (3)
HeRr TR BT A BT T DA DT 8 P
(1) TR (2) fr=h gore
(3) <RSI a5 (4) (2) vd (3) <t
38. Banks can avail refinance against loans made to industrial unit from :
(1) IDBI (2) NABARD
(3) DICGC (4) None of these
o e seEd o1 Ry U e @ Avg QaRT O ue &R Fad ©
(1) ag S & e (2) wrETS
(3) < ang 1 o (4) 3T A PIS TE
39. The financial institute IFCI was established in :
(1) 1947 (2) 1948 (3) 1949 (4) 1950
farefir wver=r IFCI vernfua gaim o ¢
(1) 1947 (2) 1948 (3) 1949 (4) 1950
40. The ICICI was formed in :
(1) 1955 (2) 1952 (3) 1953 - (4) None of these
ICICI &7 o1 :
(1) 1955 (2) 1952 (3) 1953 (4) = | BE T
41. When goods are imported for the purpose of export is called :
(1) Foreign trade (2) Entrepot
(3) Home trade (4) None of these
(1) faceh R (2) g
(3) TE AR (@) T A g T8
42. Government policy about export and imports is called :
(1) Monetary Policy (2) Finance Policy
(3) Commercial Policy (4) None of these
s g frafd @ aR § WReR @ NI HEAR
(1) #ifgs A @) fa= Afy
(3) arforsg Tfa (4) 3 & BIg 8l

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



43.

44,

45.

46.

47.

What would encourage trade between two countries ?

(1) Reduced tariffs - (2) Different tax system
(3) Good relation ' (4) None of these
<1 o @ 9 AUR BT ®IT GSaT T ?

(1) @9 % (2) Rfy= o= ugfa
(3) oree Wy (4) 3779 & HE TE
Rich countries have deficit in their balance of payments :

(1) sometime (3) never

(2) always (4) ‘None of these
IR T Y Y AT H =rer g g ¢

(1) & F (2) ¥ 8!

(3) wem (4) T W B 7T
Pakistan is not a member of :

(1) IMF (2) OPEC

(3) World Bank (4) None of these
bR g1 e 78T @

(1) 3 U7 Uh (2) 3

(3) faza 4@ @) T« BIg TE
The largest item in our import is :

(1) Machinery (2) Petroleum

(3) Computers (4) None of these
EREESIRIGI I SRS A A

(1) 7= (2) ugiferam

(3) PR (4) T ¥ T T
Govt. taxing and spending policies are called :

(1) Finance policy (2) Fiscal policy
(3) Monetary policy (4) None of these
TSR B B g G Al Bl &

(1) fa= -nfa (2) oRg Hifa

(3) Aifae Hfer (4) 7 A BIg 7l

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)
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48.

49.

50.

51.

52.

Government Finance is called :
(1) National finance

(3) Public finance

W fae HEemr € ¢

(1) < fa

(3) W fa

The Govt. can collect funds from:
(1) Taxes

(3) Prices of public goods

IRFR B ghgl P AHl © ¢

(1) ¥R A

(3) TR el & A A

[t is easy and convenient to pay :

(1) Indirect tax

(3) Progressive tax

g AT G Gl a1 fHar S €
(1) 3UTE I
(3) wrferefier v

Let the two regression lines be given as :

(2) Private finance
(4) None of these

2) fron faa
(4) ¥ @ P T

(2) Fees
(4) All of these

(2) w9 A
(4) 3 N

(2) Direct tax
(4) None of these

(2) veuer B

(4) T | BIg T

3x = 10 + 5y and 4y = 5 + 15x. Then correlation coefficient between x and y is :

(1) 0.40 (2) 0.89
AT 6 <) ged! Y@ @) S 2

(3) -0.40 (4) None of these

3x=10+5yt{‘c¥’4y¥5+15x,ﬂamﬁﬂﬂuﬂ?ﬁxﬁ?yﬁt

(1) 0.40 (2) 0.89

(3) —0.40 (4) 37 & Bz T8I

Who has propounded the theory of unbalanced growth ?

(1) E.Domar
(3) W.A.Lewis

(2) A.O. Hirschman
(4) None of these

Ry aigfer wiafs R @) sRwfa fear ?

(1) So MR
(3) S==o Vo wifedd

(2) To 3o fEefA
@) T | P TE

M.Phil./Ph.D.JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)
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53. CES production function is associated with :

(1) B.S. Minhas (2) Joan Robinson

(3) A.K.Sen (4) None of these

CES SeI& Weld Wefdd ®

(1) dlo THo fA==T™d (2) it =

(3) To Fo AT (4) 3 & ®1g TE
54. Kbnife-edge problem arises in :

(1) Solow model (2) Harrod-Domar model

(3) Kaldor model (4) None of these

T, DY TR FAHRAT $TH 49U 8

(1) <rel dtsat (2) BUS—TIR HiEH

(3) FIER AlSd (4) 39H & ®1g 7L
55. Physical Quality of Life Index was calculated by :

(1) Meier G. M. (2) Morris D.

(3) Mahboobul Haq (4) None of these

Sras qadie @ Hifde Joraem @ TorEr @ e

(1) 9RR o THo (2) "IRkY Slo

(3) WEqgel T () 3 A PIg T

56. A bag contains 7 red, 12 white and 4 green toys. One toy is drawn from the bag. What
is the chance that it is white ?

(1) 12/23 (2) 7/23
(3) 4/23 (4) None of these

Th ST H 7 o, 12 9% T4 4 =W Radw €| T Radw @Y a7 @ 9 Mara forar| @
AT 8 5 a8 9wg 8 ?

(1) 12/23 @) 7/23

(3) 4/23 (4) ¥ 9 I1g Tel
57. Which is not a development expenditure of state ?

(1) Education (2) Health services

(3) Development of agriculture (4) Debt services

T A BT fders =g 77 8 ?

(1) fwen (2) wareen Harg

(3) &MY @1 fawm (4) o1 Jar

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C) P.T.O.
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58.

59.

60.

61.

62.

Which is not a measure ot dispersion ?

(1) Range (2) Mean of deviation
(3) Variance - (4) None of these
BETd BT A 5 9 T8I ¢

(1) ¥ (2) fagas @1 Ary
(3) TR ) = ¥ BIg A
If two goods are bad substitutes, indifference curve will be :
(1) astraight line (2) slope upward
(3) slope downwards (4) None of these
afe <1 I @RE fAeed € | SR 9% 81T

(1) e =@r el (2) A HIR B AR
(3) T A B AR (4) =TH | B1g E
Tax on inherited property is an example of :

(1) Income tax (2) Sales tax

(3) Wealth tax (4) VAT

faRrae wafky TR @R UH SETEN B

(1) Mg B (2) fasp &=

(3) g7 P (4) 9T

Who propounded principles of taxation ?

(1) Keynes (2) Marshall

(3) Adam Smith (4) All of these
R B Rigra @ s ufdafea fear ?

(1) &= . (2) #eta

(3) veA Az (4) 3 [N

Govt. prepares its budget :

(1) Weekly | (2) Monthly

(3) Annually (4) None of these
TR ST TTE TR BT B

(1) wr=fes (2) wR¥®

(3) arfde @) ¥ ¥ B =E

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



63. Full form of DWCRA ;

(1) Development of Women and Children in Rural Areas
(2) Direct Welfare of Children in Rural Areas

(3) Development and Welfare of Children in Rural Areas
(4) None of these

"DWCRA &7 Yol &9 @

(1) STeu¥e offt ga toe fesT 3 wvar oRan
(2) STENGC dABIR 3T fregT 59 Wl TRAT

(3) SATTIC TS JABIR 3ih fregT 39 wral TRAT
(4) T W B 7E

64. India's wage policy is based on:

(1) Savings (2) Productivity
(3) Cost of living (4) All of these
e ) TS Y PR 2
(1) d9qd (2) SHTEHAT
(3) Straq &1 @ 4) I
65. The main aim of Antyodaya programme is :
(1) Uplift poor (2) Uplift the farmer
(3) Uplift the urban poor (4) None of these
(1) TRE BT SR IS (2) ™ &1 FuR IS
(3) B TRE P HUWR ISHT (4) 3 | P13 L
66. Poverty in less developed countries is large because :
(1) Lack of cultural activities (2) Income in equality
(3) Lack of intelligence of people (4) All of these
%1 el <e # WG SareTr § F3ife
(1) wipfas wfafafeat @ s (2) AT JFATHAT
(3) @rm # gfg @ & (4) A i

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)
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, 67.

68.

69.

70.

1.

The environment includes :

(1) Abiotic factor (2) Biotic factor

(3) Abiotic and biotic factor (4) None of these
favor # wnfidt @ ¢

(1) mig e (2) vifad T

(3) omtg @ 9fds @ea (4) 37§ B T
Net capital ratio is :

(1) Total assets/total liabilities (2) Total liabilities/total assets
(3) Total income/total expenditure (4) None of these

e ol argane @

(1) B wufRr/ ger < (2) Her IR /g AR
(3) Bl 3/ Bl wd (4) 37 A P
Mines and Fishes are subject to the law of :

(1) Dimnishing returns (2) Increasing returns
(3) Constant returns (4) None of these
@l ok qoferdl e A wdfod € |

(1) wed ufawd (2) @ed ufawa

(3) e wf @) T ¥ DS T
When variable cost is zero, the total cost will be :

(1) Equal to variable cost (2) Equal to fixed cost
(3) Equal to marginal cost (4) None of these

Sia gRadeNe e g ®, @ Eel arTd §

(1) aRad=elie o @& ava” @) ReR omTd & a_TER
(3) drid T B AR @) T A PIS A&

Rural commission of agriculture submitted its report in :

(1) 1905 (2) 1928 (3) 1929 (4) None of these
FR & I FAEA F oA g R wg Q7
(1) 1905 (2) 1928 (3) 1929 (4) 3TH A Pig 7TEI

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



72.

73.

74.

75.

76.

Which of the following is not an input device ?

(1) Microphone (2) Keyboara

(3) Joystick (4) None of these
s A =1 ImTa 93 T8 | -

(1) TSI | - (2) wrard

(3) wiaRes (4) T w1
The main characteristic of scientific research :

(1) empirical - (2) experimental
(3) theoretical (4) All of these
IEEIGRCEGSEISECA] q= ey -

(1) yamRig (2) SR

(3) Jgifcre @) A h
Demand for food is income in elastic. This is explained by :
(1) Giffen paradox (2) Engel's law
(3) Ricardo's law (4) None of these
IS @) AT MY A 2| g o @) afvld fser

(1) ffs R (2) UTel B
(3) Reret forem @) T ¥ B T
ECOMARK is a symbol of :

(1) Export goods (2) Import goods
(3) Goods sale for environment (4) None of these
gHMD Th U8 ©

(1) fraf awqy (2) 3T IRy

(3) waieRvr & g fAws arerr n @) T W BIg TE

Accelerator is most commonly related to :

(1) Interest rate (2) Induced investment
(3) inventories (4) All of these

AETG AR R Fe SITET @RYT [T & ¢

(1) & & 9 (2) uRa o @

(3) #ra A 4) 3

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)

i i

15



16 ' C
77. What is full form of HPL?

(1) Human Poverty Index (2) High Productivity Index
(3) Human Productvity Index (4) None of these
HPI & gof w9 &1 2 ?
(1) e gl grea () =8 Uefefd swsw
(3) e drefaefadt oo (4) 37 & B8

78. Which is qualitative tool of monetary policy ?
(1) Bank rate (2) Cash Reserve Ratio
(3) Credit Ceiling (4) Credit Rationing
T W BT Afgs Ny BT gD AW 7 7
(1) 9@ &R (2) FHe ARERT AU
(3) WG A (4) wfse raf

79. Inflation indexed Bonds is pegged to :
(1) WPI (2) CPI
(3) Both WPI & CP1 (4) None of these
Harenfa amie ais @ fay ivs
(1) sy @ g (2) < @ ag

(3) ey O ang wd ¥ o g < (4) 3 | HE TE

80. Which of the following agricultural commodities of India gives largest in terms of
export value ?

(1) Tea (2) Basmati rice
(3) Cotton (4) None of these
frafa qea #§ 9Rd A - PR 9 ST 7 ?

(1) =& _ (2) grEAfa AT
(3) U (4) 379 A PIg Tl

81. When receipts of foreign exchange are more than payments of foreign exchange, BOP
is

(1) Balanced (2) .Surplus

(3) Deficit _ | (4) Autonomous

o fae Rfvr o witt R Rffg & «pae § SareT @, @ BOP §
(1) wdfera (2) afferea

(3) Hmer (4)

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



82.

83.

84.

85.

86.

APC can never be:

(1) positive (2) zero

(3) more than one (4) none of these

APC & & & wod! § -

(1) HHRIHS (2) T

(3) TP ¥ IR (4) T & B T

The slope of autonomous investment line ?

(1) slope=0 (2) slope>0

(3) slope <0 (4) none of these

@ e v @) T §

(1) 3™ =0 (2) g1 >0

(3) @™ <0 (4) 39 Q@ ®Ig Tl

Philip curve setsup a relation between :

(1) Taxes and inflation (2) Inflation and unemployment
(3) Price and cost of production (4) None of these

fipfera g7 dra ey g9 ® ¢

(1) &R g FERWBIA (2) JERIfa g RIS

(3) AT g IEIET P N (4) 39 A PIE T8I

Which of the following is not related to empowerment of women ?

(1) Gender Budgeting (2) Gender Development Index
(3) Gender diécrimination (4) All of these

fFrferRad & ia-w afder weifdaaser ¥ Hafea 78l g ?

(1) o gore (2) & R gas

(3) forvr fawe 4) T

Giffen paradox occurs when income effect is :

(1) Equal to substitution effect (2) Less than substitution effect
(3) Greater than substitution effect (4) None of these

A faRemTY 81T € S8l oy Uvd & ¢

O REZIEE R CICAC ACNEN (2) ufRemus yug | @4

(3) uforemas uvrg & SareT (4) 38 & P A

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)
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87.

88.

89.

90.

91.

FRBM Act 2012 put a ceilings to fiscal deficit :

(1) 6 percent (2) 5 percent

(3) 4 percent . (4) None of these

FRBM vae 2012 fart are @ imr <@ ¢

(1) 6 wfawr (2) 5 ufdea

(3) 4 uferera @) T QA BIE T

How many countries are the members of Europeon Union ?

(1) 28 (2) 25 (3) 26 (4) None of these
R g & s A9 dew § 7

(1) 28 . (2 25 (3) 26 (4) 379 | PIg ALl
According to Keynes, the aggregate supply curve during depression :
(1) horizontal (2) wvertical

(3) tilts Li})\-valrd to right (4) None of these

Bt B SR WA @ SR e Agfel @b

(1) &fer (2) e

(3) & B RB Y ® (4) T | P1g T

If a linear consumption function passes through the origin, it means ?
(1) APC > MPC (2) APC < MPC

(3) APC = MPC (4) None of these

afe v Waw ST Here gD SR B ARH PO 8, A

(1) APC > MPC (2) APC <MPC

(3) APC = MPC (4) 3T | B3 T

Which is following a research tool ?

(1) Graph ; (2) Diagram

(3) Questionnaire (4) None of these

T W P S SUGRY B 7
(1) U1 (2) IR
(3) wEeh (@) T A P A

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(C)



92.

93.

94.

95.

96.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(C)

Chipko movement was started by
(1) Arundhati Roy

(3) Ila Bhatt (4)
AYD] =T fhem g fhar e ©

(1) Srowerll 3fa 2)
(3) =efm g (4)
Grass root planning refers to :

(1) Panchayat Raj (2)

(3) Community Development Program (4)
BECIRSERRLINEEE
(1) vagd I

(3) W A& Friwd

()
(4)
Debt relief to farmers is part of :

(1) Plan expenditure

2)

(3) Defence expenditure (4)
fo=arl &1 &t W% fwar fewn € ?

(1) FaeE e )
(3) el = (4)

19

Medha Patkar

None of these

T ey
T | BIg e

ILand revenue system

None of these -

CIE W REAR]
39 | BIS T

Non-plan expenditure

None of these

RIS 21y
STH | BiIg T8

A competitive firm achieves long-run equilibrium in the product market when :

MR = MC

None of these

MR = MC

(1) AR =MR )

(3) MR = AC @)

SO R H U gferiff il efarer e i ord) 8, o
(1) AR =MR )

(3) MR = AC

The mean of four numbers a, b, ¢, d is 100. If ¢ = 70 then the mean of the following

numbers is :

85
1) 30 2) —
(1) (2) 5

(3) 110

(4) 399 |9 B T8l

(4) None of these

IR 6T a, b, ¢, d BT 49 1002 | afY ¢ =70 a7 S e &1 719 © -

(1) 30 @ 2

(3) 110

(4) 3 A IS TS

P. L0,



20

a7,

98.

99.

190.

Which of the following pollutants can cause cancer in human ?

(1) pesticides ' (2) mercury

(3) lead | (4) ozone

S T BT HGUU[ A PR B AbaT § °

(1) @R | (2) "1

(3) oS (4) S

Who developed the theory of comparative advantage ?

(1) David Ricardo (2) Adam Smith
(3) A.K.Sen - | (4) None of these
TR e & fRgrd fewe fefa foar ?

(1) e Rewret (2) ven REy

(3) Yo Fo W (4) T ¥ PIg T
What is NIC ?

(1) Newly Independent Countries (2) Newly Industrialized Countries
(3) Non-investing Countries (4) None of these
NIC &1 € ?

(1) U Wa= a2 (2) =Y eienfires <
(3) IR faer < (4) T | BIg TE
The purchase of goods from a foreign country is called :

(1) Re-export (2) Export

(3) Import (4) None of these
et Ao § wRaell @ @ HEAT §

(1) = | Fafa (2) frafa

(3) armard (4) 3T | DS L

M.Phi’iJPh.DJURS-lEE—N(w.-2018/(Economics)(SET-Y)f(C) '



Who propounded principles of taxation ?

(1) Keynes (2) Marshall

(3) Adam Smith (4) All of these
PR D Rrgr 31 e ufdwfee fear ?

(1) &= (2) #rEte

(3) veH Reey (4) o

Govt. prepares its budget :

(1) Weekly ' - (2) Monthly

(3) Annually (4) None of these
TRBR AT Folc AR B 2

(1) wr=nfes (2) w1l

(3) arfde (4) ¥ A 13 T

Full form of DWCRA :

(1) Development of Women and Children in Rural Areas
(2) Direct Welfare of Children in Rural Areas

(3) Development and Welfare of Children in Rural Areas
(4) None of these

DWCRA &1 9 w9 % :

(1) Saewie st g os frege 51 el TRa
(2) ST ITIIR T RresT 37 weat wRaT

(3) STcYHT [UE IAHIAR I ResT 37 ot TRaT
@) T8 F 3 7

India's wage policy is based on :

(1) Savings (2) Productivity
(3) Cost of living . (4) All of these
RS DI Aorgal fer ek 2

(1) Fua | (2) SeaTEea

(3) Sia= &7 Ed | (4) T IR

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)
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5. The main aim of Antyodaya programme is :

(1) Uplift poor (2) Uplift the farmer
(3) Uplift the urban poor (4) None of thése
(1) TRF B FR IS (2) fFa™ &1 IR IS
(3) TEN TG B HUR IS (4) 379 | P T8

6. Poverty in less developed countries is large because :
(1) Lack of cultural activities (2) Income in equality
(3) Lack of intelligence of people (4) All of these
o9 fafa <= & & wer @ @il
(1) WRpiae Tfafafe=r o wA (2) I AT
(3) @t # gfg @ B (4) T

7. The environment includes : _
(1) Abiotic factor (2) Biotic factor
(3) Abiotic and biotic factor (4) None of these
qgtaRor :rrr&m B
(1) srolg T (2) Sifdw a@
(3) 3ta g Wfdw aw@ (4) 37H | g 7TE

8. Net capital ratio is :
(1) Total assets/total liabilities (Zj Total liabilities /total assets
(3) Total income/total expenditure (4) None of these
B ol g ©
(1) %o wufr/ et i (2) @t <M /et Hay
(3) et /et (4) ¥ @ PIE T

9. Mines and Fishes are subject to the law of : |
(1) Dimnishing returns (2) Increasing returns
(38) Constant returns (4) None of these
(1) =ea wfawe (2) @ed gfawa
(3) e i (4) 379 & BIE TE

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



10.

11.

12.

13.

14.

When variable cost is zero, the total cost will be :

(1) Equal to variable cost (2) Equal to fixed cost
(3) Equal to marginal cost (4) None of these

W9 gRacEe AT I R, @ el o §

(1) 9RTcTeNe AT & avER (2) Rer T & areR
(3) ¥IT AT & FRTER (4) ¥ | B TE
Which is following a research tool ?

(1) Graph (2) Diagram

(3) Questionnaire (4) None of these

FTH W DIF-WT ATHITT SUSRT & ?

1) aw 2) INE

(3) waRn (4) T | BIg T
Chipko movement was started by :

(1) Arundhati Roy (2) Medha Patkar

(3) Ila Bhatt (4) None of these
AUPT FRTAT e e o ey ?

(1) 3rewreh g (2) T greaR

(3) e g (4) T @ B T
Grass root planning refers to :

(1) Panchayat Raj (2) Land revenue system

(3) Community Development Program (4) None of these

Freen wR e @

(1) Y= I (2) 4fA o ugf

(3) wger e srisa (4) & A PE T

Debt relief to farmers is part of :

(1) Plan expenditure (2) Non-plan expenditure
(3) Defence expenditure (4) None of these

forsrrt o1 ot Ae faraewT fRwar & 2

(1) Fass o> (2) IR-FrEeH g

(3) em =™ (4) 9 & Bg TE

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(D)
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15.

16.

17.

18.

19.

A competitive firm achieves long-run equilibrium in the product market when :
(1) AR=MR (2) MR =MC

(3) MR = AC (4) None of these

I IR A e gferan wH e dded W Sl 8, 99

(I) AR=MR (2) MR=MC

(3) MR = AC (4) $TH | DI TR

The mean of four numbers a, b, ¢, d is 100. If ¢ = 70 then the mean of the following
numbers is :

(1) 30 (2) % (3) 110 (4) None of these
IR G&T a, b, ¢, d &1 A 1008 | AR ¢ =70 a1 =1 der &1 919 & ¢

(1) 30 (2) %Ei (3) 110 (4) TTH A B AL .
Which of the following pollutants can cause cancer in human ?

(1) pesticides (2) mercury

(3) lead (4) ozone

ST A DT UG AFE H SR BN GHAT © 2

(1) PrcAED (2 IR

(3) oe (4) 3N+

Who developed the theory of comparative advantage ?

(1) David Ricardo (2) Adam Smith

(3) A.K.Sen _ (4) None of these

JaTa o &1 g fea el faar ?

(1) Sfrs Raret (2) veH Ru

(3) To o {7 (4) T 9 o T

What is NIC ?

(1) Newly Independent Countries (2) Newly Industrialized Countries
(3) Non-investing Countries (4) None of these

NIC @ § ?

(1) 9T Wa= <9 (2) 7T et o

(3) R fHder qw (4) $H @ BIS T8I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



20. The purchase of goods from a foreign country is called :

(1) Re-export (2) Export

(3) Import (4) None of these
(1) R < fafa 2) faia

(3) smarc 4) ¥ | B1E T

21. Let the two regression lines be given as :
3x =10 + 5y and 4y = 5 + 15x. Then correlation coefficient between x and yis:
(1) 040 (2) 0.89 (3) -0.40 (4) None of these

3x =10 + 5y Td 4y = 5 + 15x, Td FEALY o x AR y § -

(1) 040 (2) 0.89 (3) -0.40 (4) =99 & g T8
22. -Who has propounded the theory of unbalanced growth ?
(1) E.Domar (2) A.O. Hirschman
(3) W. A. Lewis (4) None of these
T gl gt Rrara @) wfifed R ?
(1) %o SR (2) To a0 fefm
(3) SFo Yo A (4) T W P
23. CES production function is associated with :
(1) B.S. Minhas ' (2) Joan Robinson
(3) A.K.Sen - (4) None of these
CES Sd@Ted Ba Hafda 8 ¢
(1) do THo fAvsm (2) <9 Afe=a=
(3) To Po AH (4) 378 & ®1E 7
24. Knife-edge problem arises in :
(1) Solow model (2) Harrod-Domar model
(3) Kaldor model (4) None of these
Ty, B TR FARAT T gU §
(1) AT "isd (2) TWS—IFR Al
(3) TSR HisH (4) 37H | B T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D) P.T.O.



25. Physical Quality of Life Index was calculated by :

(1) Meier G. M. (2) Morris D.

(3) Mahboobul Haq (4) None of these
Silae erehie @ Hifde [ora B T #H e

(1) AR Sflo THo ) =iRH So

(3) TEqge v (@) T A P T

26. A bag contains 7 red, 12 white and 4 green toys. One toy is drawn from the bag. What
is the chance that it is white ?

(1) 12/23 (2) 7/23
(3) 4/23 (4) None of these

Th T H 7 A1, 12 e 79 4 =W R €1 v Raad &7 &7 ¥ ar et forn | w®m
AT & fh g8 wwe ® ?

(1) 12/23 (2) 7/23
(3) 4/23 (4) T 9 IIE T
27. Which is not a development expenditure of state ?
(1) Education - (2) Health services
(3) Development of agriculture (4) Debt services
T W H-—1 e g 78T 8 ?
(1) fRrem . (2) TRy Ha
(3) &M @ fawra (4) o1 warg
28. Which is not a measure of dispersion ?
(1) Range (2) Mean of deviation
(3) Variance (4) None of these
BeTd BT A9 594 9 TET 8 ¢
(1) ¥ (2) e &1 Ary
(3) TR (4) 3T A BIS TE
29. If two goods are bad substitutes, indifference curve will be :
(1) astraight line (2) slope upward
(3) slope downwards (4) None of these
oy <) wEH ©)e e § | Sariear @ B
(1) ¥ v &Rl (2) TEM FWR B AR
(3) AN A Bl AR (4) 79 A B3 &I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



30. Tax on inherited property is an example of :

(1) Income tax (2) Sales tax
(3) Wealth tax (4) VAT
ORI WY W AR TP SRR R

(1) 8T &) ) 2) famr &=
(3) &7 & (4) dT

31. When receipts of foreign exchange are more than payments of foreign exchange, BOP
is::

(1) Balanced (2) Surplus
(3) Deficit ' (4) Autonomous
e e e @ wiite Rl fAfvr @ e @ s € 93 BOP & -
(1) wgfera ) enfrag
(3) grer (4) @
32. APC can never be :
(1) positive : (2) zero
(3) more than one (4) none of these
APC &4 -8l 8 dad) B :
(1) FPRTHSB (2) =
(3) UH W wurar 4) 379 A @13 TE
33. The slope of autonomous investment line ?
(1) slope=0 (2) slope>0
(3) slope<0 (4) none of these
W e Y Y g @
(1) a1 =0 (2) @ >0
(3) &A™ <0 (4) 37 q B1E T8
- 34 Philip curve setsup a relation between :
(1) Taxes and inflation (2) Inflation and unemployment
(3) Price and cost of production (4) None of these
oy 9o 9 Fee §9raT ® -
(1) ¥R T gErROIfy (2) JERDIT 7 WIS
(3) HHT g IATEH P! T (4) $TH & BIE 7TEl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D) P.T.0.



35. Which of the following is not related to empowerment of women ?

(1) Gender Budgeting (2) Gender Development Index
(3) Gender discrimination (4) All of these

ferefeitaa & el=-w Afeen wefaaesor & Wdfta 787§ ?

(1) fofr gore ' 2) foin fawr gaa

(3) feirr fave (4) T 0

36. Giffen paradox occurs when income effect is :
(1) Equal to substitution effect (2) Less than substitution effect
(3) Greater than substitution effect (4) None of these
s faRIEmTY 81T © T8l g 99 ® -

(1) YRS U9 & aRIER (2) wfoRemus wara | wH

(3) UfCRATIA wTE | SUTET 4) 3 B1g T
37. FRBM Act 2012 put a ceilings to fiscal deficit :

(1) 6 percent (2) 5 percent

(3) 4 percent ' (4) None of these

FRBM vae 2012 faxy are &1 A e © ¢

(1) 6 wfcrere (2) 5 wfderd

(3) 4 wfrerd (4) 7 | P13 T
38. How many countries are the members of Europeon Union ?

(1) 28 (2) 25 (3) 26 (4) None of these

TR W B e S weE & 7

(1) 28 (2) 25 (3) 26 (4) TTH A P13 Tl
39. According to Keynes, the aggregate supply curve during depression :

(1) horizontal (2) wvertical

(3) tilts upward to right (4) None of these

Pl B ITAR HA & AR Gl AMYfl a5

- (1) afis 2) @St
(3) =Y & TS Feull & (4) T & FIg T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



40.

41.

42.

43.

44,

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)

If a linear consumption function passes through the origin, it means ?

(1) APC > MPC (2) APC < MPC

(3) APC =MPC (4) None of these

A T W IUHRT Ber gD SeRT B AR & Towa B, v

(1) APC > MPC (2) . APC < MPC

(3) APC = MPC (4) 378 & PIE T8

The standard deviation of a population is 9, the population variance is :

(1) 9 2) 3 (3) 21 (4) None of these
3METST BT AMD e 9 2, ard) BT Y=o 8177

1) 9 ) 3 (3) 21 (4) 3 ¥ BE T
The weight of students in a college/school is a :

(1) Continuous variable (2) Quantitative variable

(3) Qualitative variable (4) None of these

TP Pierel /e # Renfiat o1 WR 2

(1) SaR gga arer (2) 9=THS g dTelT

(3) T aEE e @) T A P T

The minimum interest rate of a bank below which is not viable to lend is known as
(1) Base rate (2) Marginal rate

(3) Reserve rate (4) None of these

UF 6 & AT 1S &R AN A ¥ o SUR SN @ 1T /el e S e B
(1) IUR (2) AT &%

(3) Rord « 4) =7 9 g T

Which sector is backbone of Indian economy ?

(1) Service sector (2) Agriculture sector

(3) Financial sector (4) None of these

PIT—AT &3 WRAT fefeaawer & O &) gg & ?

(1) war e (2) P &

(3) foxira &= (4) 374 & 315 e

L B



10

45.

46.

47.

48.

49.

When was kisan call centre established ?

(1) July, 2000 (2) March, 2004
(3) January, 2004 | (4) None of these
- e e B $e venfid g ?
(1) SemE, 2000 (2) =, 2004
(3) STE, 2004 (4) 379 9 BIg 7R
Which among the following is cereal ?
(1) Rice (2) Wheat
(3) Maize (4) All of these
F A B o § ? |
(1) amae (2) g
(3) IR (4) T & ol
Which of the following is a method to measure relative poverty ?
(1) Poverty line (2) Ginni coefficient
(3) Lorenz curve: (4) Both (2) & (3)
e T Y AU FH g A pE—ar T ® 2
(1) T S (2) =t 7ot
(3) <RSI @ 4) (2) wd (3) 3t
Banks can avail refinance against loans made to industrial unit from :
(1) 1DBI (2) NABARD
(3) DICGC (4) None of these
d% shelfie @Al o1 Ry Ty =0 & fAvg e 9 ura &) wod &
(1) o < & 3 (2) =frare
(3) S amg A Sh o (4) 38 I Hg TE
The financial institute IFCI was established in :
(1) 1947 (2) 1948 (3) 1949 (4) 1950
faxfra G IFCI wonfia gam o :
(1) 1947 (2) 1948 (3) 1949 (4) 1950

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



50.

51.

52.

53.

55.

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)

The ICICI was formed in :

(1) 1955 (2) 1952 (3) 1953 (4) None of these
ICICI &= o :

(1) 1955 (2) 1952' (3) 1953 (4) & ¥ TS A8l
When goods are imported for the purpose of export is called :

(1) Foreigntrade (2) Entrepot (3) Home trade (4) None of these
o9 gl it s @ forg omama @t o) € S el ©

(1) R amRr (2) gaftaia (3) & @R (4) 98 § g TE)
Government policy about export and imports is called :

(1) Monetary Policy (2) Finance Policy

(3) Commercial Policy (4) None of these

ST g fafd & aR § WeR @ N dEarh @

(1) #fee Aifa Q) fo Hfy

(3) arforsg <ifa (4) 379 A BIg 8

What would encourage trade between two countries ?

(1) Reduced tariffs (2) Different tax system

(3) Good relation ' (4) None of these

Q) QU B g AR BT a7 JgTaT AT ?

(1) &9 R% (2) fafr=1 & ugfa

(5) o iy (4) T ¥ BE T

Rich countries have deficit in their balance of payments : ‘

(1) sometime (2) never (3) always (4) None of these
(1) w1 0 (2) &1 T8 (3) =wem (4) 379 | PIg TEI
Pakistan is not a member of :

(1) IMF (2) OPEC (3) World Bank (4) None of these
aifhAT 37T WaxT e ©

() I g6 (2) 3 (3) R do @) 7 9 P T

11
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56.

57.

58.

59.

60.

The largest item in our import is :
(1) Machinery

(3) Computers

BAR TG # a1 R /A R
(1) ==

(3) d¥gex '

(2) Petroleum
(4) None of these

(2) ygiferam
(4) 3 QA @8 T

Govt. taxing and spending policies are called :

(1) Finance policy
(3) Monetary policy

IRER B B g Gd AT deaer ¢ -

(1) fag -nfa
(3) #Hifew Hfa

Government Finance is called :
(1) National finance

(3) Public finance

WHR o7 peam ©

(1) iy fow

(3) wrdeTe fas

The Govt. can collect funds from :

(1) Taxes
(3) Prices of public goods

RER HE SHE] B AR ©
(1) #x A |
(3) WEwIRe el B BT

[t is easy and convenient to pay :

(1) Indirect tax (2) Direct tax
g I 9 gfaureia sraT fhar S @ -

(1) emcaer &R (2) YU e

(2) Fiscal policy
(4) None of these

(2) wrorE =i
(4) T A BIg 7@l

(2) Private finance
(4) None of these

(2) froft fa
(4) 379 & B3 TR

(2) Fees
(4) All of these

(2) B A
4) I h

(3) Progressive tax (4) None of these

(3) wfaelar &+ (4) 390 | BIg Tl

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



61. Rural commission of agriculture submitted its report in :

(1) 1905 (2) 1928 (3) 1929
B & IORN FAH 7 0 gwel Rl wa & ?
(1) 1905 - (2) 1928 (3) 1929
62. Which of the following is not an input device ?
(1) Microphone (2) Keyboard
(3) Joystick | (4) None of these
(1) Argshrent (2) wIere
(3) SiraRew 4) T A g T
63. The main characteristic of scientific research :
(1) empirical (2) experimental
(3) theoretical (4) All of these
s srgeum™ @ g fQiwan
(1) warRig (2) WS
(3) Wgift® 4) A =i
64. Demand for food is income in elastic. This is explained by :
(1) Giffen paradox (2) Engel's law
(3) Ricardo's law | (4) None of these
AT B AT S rE B | 9 e By aftfe e
(1) frfter R (2) Tl FTE
(3) Rarel foram (4) 37 A g 7
65. ECOMARK is a symbol of :
(1) Export goods (2) Import goods
(3) Goods sale for environment (4) None of these
TG Uh RET R
(1) frafa awqy (2) S awgy

(3) wareRY & foy e e wmE (4) 38 | BIg 7T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)

(4) None of these

4) 3 A BE T

13

T O



14 D

66. Accelerator is most commonly related to :

(1) Interestrate (2) Induced investment
(3) inventories (4) All of these
WHR AR R A9 SATST @R Haord 8
(1) =<t &8 | (2) uRd e |
(3) #IST o (4) 3

67. Whatis full form of HP1 ?
(1) Human Poverty Index (2) High Productivity Index
(3) Human Productvity Index ' (4) None of these
HPI @ got %9 a7 2 ?
(1) & gerct seaw (2) =8 urefefRd g=san
(3) T wisfaefad gea (4) T A B 7E

68. Which is qualitative tool of monetary policy ?
(1) Bank rate (2) Cash Reserve Ratio
(3) Credit Ceiling (4) Credit Rationing
T ¥ -1 Hifgs MY w1 quiners A R 7
(1) d& =R (2) e ARG uTd
(3) arg A (4) wfse rafr

69. Inflation indexed Bonds is pegged to :
(1) WPI (2) CPI
(3) Both WPI & CPI (4) None of these
HERBIfd YEeie ais & fag i
(1) Sy U amg 2) A G s

(3) sy W 3¢ ud W @ ang <l (4) 37 A B T

70. Which of the following agricultural commodities of India gives largest in terms of
export value ?

(1) Tea (2) Basmati rice
(3) Cotton (4) None of these
it qou § aRa B He-—N FA avg suEr @ ?

(1) = (2) arTafa @nae
(3) ®HIA (4) s | B3 T8l

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



71.

72,

73.

74.

75.

76.

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(D) .

(1) I A

Which is not element of selling cost ?
(1) transportation cost

(3) salary of salesman

BIF—T e8] T @1 faar gt & 2

(2) fasmos w @d

(3) fasar &1 I+ (4) Rasat ety g adf
Keynesian economics lays more emphasis on : |

(1) fiscal policy (2) monetary policy
(3) interest rate policy (4) None of these

PHeoT AR ST R ST &

(1) worE Afd 2) #ifxs Ny

(3) = 'Y Hfy (4) 37 A ®I1g &
High powered money is producecd by :

(1) Commercial Banks (2) Co-operative Banks
(3) Reserve Bank of India _ (4) None of these

S WRIY &l 9978 Il ©

(1) afrea & grr ' (2) FWEDN 96 g

(3) WRT &1 Rod d& grr (4) 3T A ®Ig T
Green Revolution was introduced in :

(1) 1964 (2) 1965 (3) 1963 (4)
gRa wif<T &1 afrarfad fur o

(1) 1964 (2) 1965 (3) 1963 (4)
The Bretton-woods system finally collapsed in :

(1) 1970 @ 1971 - (3) 1972 C (@)
de-gs ugfy yofqar #a gy g ?

(1) 1970 (2) 1971 (3) 1972 (4)
New Economic Policy was introduced in :

(1) 1981 2) 1991 (3) 1971 (4)
¢ ofdfe Ny 9 g of ¢

(1) 1981 2) 1991 (3) 1971 (4)

(2) expenses on advertisement

(4) expenses on window display

None of these

SN | B A8

1973

1973

2001

2001

ot
¥4 ]

P.T.O.
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T,

78.

79.

80.

81.

According to Keynes, level of employment depends on :

(1) Aggregate supply (2) Aggregate demand
(3) Effective demand (4) None of these

BT B AR, AR HT W PR awar @

(1) B g (2) = H

(3) wHTdY Wi (4) 37T | BIg LI
For substitute cross elasticity of demand is :

(1) Positive (2) Negative

(3) Zero (4) Noﬁe of these
e & forg A @ UR &g §

(1) AHRIHD : (2) THRITD

(3) U (4) T A P
Solow residual is given by :

1) A @) % 3) 9}(5 (4) Noneof these

Al srafdre fear mar 2 -

aK

AA
1) A @) —= X

3) (4) T A BIg TE

In the sequence of numbers 8, 24, 12, X, 18, 54 the missing number X is :

(1) 26 (2) 24 (3) 32 (4) 36
T @Y IehA H 8,24, 12, X, 18,54 TG W& X ©

(1) 26 (2) 24 (3) 32 (4) 36
Shadow prices can be called :

(1) Imputed cost (2) Opportunity cost

(3) Both (1) & (2) (4) All of these

Wt BHT B bEd |

(1) S=aRIfdd o (2) IJEER FARTA

(3) (1) @ (2) < 4) 3 =l

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)
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83.

84.

85.

86.
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The GST will subsume :

(1) Entertainment tax (2) Value added tax

(3) Union excise duty (4) All of these

Siead) o aRafda /S BT

(1) RS o ' (2) 7o afdfa &

(3) T SR Pob (4) 3 ¥

Which tax is imposed solely by the government?

(1) Sales tax (2) Excise tax

(3) Custom duty (4) None of these

HIT—AT B DI IRBR gRT AT 37 2

(1) 9 o (2) SE geh

(3) @ e (4) T & P =@

Which country introduced paper currency system first in the world ?

(1) England (2) USA

(3) India (4) Sweden

R H W9 ugel BTSN G5 B e Q9 3 3 far ?

(1) gavs 2 gwwu

(3) 9Rd : (4) e

In a multiple regression the regression coefficient are to be used. Which test would be
~used ?

(1) d-test (2) t-test

(3) F-test (4) None of these

IEIfTTAT # Ui o BT wlervr fbar Smar 21 T BN Qe B ganT R
ST P

(1) d-u<retor (2) t-TRiefor _
(3) F-udefor (4) 99 A ®Ig T8
Simplex method is used for solving the problem of :

(1) Input-output model (2) Regression

(3) Linear programming (4) None of these
e fafyy el @ gewm & oy wi @ o @

(1) smTa—frme Hree | (2) wfrTTE

(3) Raw gt @) 37 ¥ B T

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Economics)(SET-Y)/(D) * POT0
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87. The analysis of variance is carried out by using :

(1) t-test (2) z-test (3) F-test (4) None of these
fovrenT SuaTT wRe = B fveyer P s g 7
(1) t-gdeor 2) z-uderor (3) F-udteror . (4) 379 1 B3 TEI
88. Which is a non-probability based sampling method ?
(1) quota sampling (2) simple random sampling
(3) systematic sampling (4) None of these
AR STeTRE FATRYT A B 8 ?
(1) TS FHATHRVT (2) AW AGReEH AAT
(3) gafRerd TFEHROT (4) & 9 B1g T
89, Given production function Q = AL’ Kli, a, B > 0, increasing returns to scale requires
that :
(1) a+p=1 (2) a+p>0
3) a+p>1 (4) None of these
fay T weured wer Q = ALYKP o, B> 0 750 ufiwa & Y @ fig sawas @ -
(1) a+p=1 ) a+B>0
3) a+p>1 (4) 379 9 ®IE T8
90. Embodied technical change model is based on which production function ?
(1) CES (2) Cobb-Douglas
(3) VES (4) None of these
qa-al uRad sraeifde Hise fod ST wad R ik & ?
(1) CES (2) Pla—sTA
(3) VES (4) sTH | B T
91. The cross elasticity of demand is applicable to :
(1) substitute goods (2) inferior goods
(3) superior goods (4) None of these
AHT @) aR & IR AR BT §
(1) fomer axqy 2) =1 st & amE
(3) FEAR A (4) 379 A B T

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)



92.

93.

94.

95.

96.

The law of demand is applicable to :

(1) Normal goods (2) inferier zoods

(3) prestige goods (4) all of these

|7 &1 I e g R

(1) WRoT e @) fas ®f @ e
(3) wfteT awgy (4) A I

Indirect demand is also known as : |

(1) derived demand (2) composite demand
(3) joint demand (4) all of these

e | BT W ST ST @

(1) g1 AT (2) W HM

(3) wgad AT (4) A N

Market demand is an aggregate of purchasing by :

(1) two buyers (2) one buyer

(3) all buyers (4) None of these

ISR AT WIS 6T U et @

(1) a1 TEER (2) P TR

(3) W WIERR (4) 98 A B T

In a market economy, the basic economic decision are driven by
(1) Governments (2) Business owners

(3) Individuals (4) All of these

U IR efegawen § qa1 anfie duar forw oy &

(1) WHR gRT (2) @aar & wifars 3R
(3) feTar gmr (4) F i

The difference between the gross value added and net value added is -
(1) investment (2) depreciation

(3) value added 4) productidn flow
Ahel e SIS g Y& el SIS & 3iax &) HaEd & ;

(1) e (2) Uy

(3) T=u S (4) SUIET Ydle

M.Phil./Ph.D./URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)
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97.

98.

99.

100.

Benefits or harm caused by a firm without payment/penality is called :

(1) Externality

(3) Investment

)
4)

Loss

None of these

U B ZRTAFAR / SpiAr T a8 ont a1 g1 &1 8191 dEar ©

(1) Arendr
@)

When incomes increases, consumption :

(1) Remains constant

(3) Both (1) & (2)

EGE R b B re ) S | BRR LK £
(1) ¥ et @

(3) (1) Vg (2) <X

At the equilibrium level of income :

1) S=1
@3) S<1
3 & AWIATRRIT TR
(1) S=1
3) S<1

At the break even level of income :
(1) Income = Consumption

(3) Income > Consumption

IR B AP WIR TR
(1) IRT = ITHRI
(3) IMI > IWT

2)
(4)

(2)
4)

(2)
(4)

(2)
(4)

(2)
(4)

)
(4)

(2)

HiG
1 A IS el

Decreases

Increases

gedl &
godl ©

S>1
None of these

S>1
T ¥ g T

Income < Consumption

None of these

;M < TN

(4) T | Pre T

M.Phil./Ph.D/URS-EE-Nov.-2018/(Economics)(SET-Y)/(D)
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